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Study the following lists:
List-1 List - 11

A)  Triticum I) Anacardiaceae
B) Lvcopersicon II) Fabaceae
C) Mangifera ) Poaceae
D) Glycine max IV) Liliaceae
V) Solanaceae
§od DYoo wggahdo Fohod.
588 -1 5% -1
A) (G380 @ OI 5TV
B) &§29)50 Q’\H) TR
C) SLrozxor &q’ ) POV
D) 755 &rg ci(/ IV) 995
@ V) &3

Q/V'
The correct match 1s @
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Question Number : 2 Question Id : 7512365122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The six kingdom classification proposed by Carl Woese mcluded Bactena,
Archaebacteria, Protista, Fungi, Plantae and Animalia.

Reason (R):  Carl Woese divided six kingdoms mto 2 domains using 16s rRNA.

Fswg (A): OS0 8 Targe 50880 HEFdoT k. v wridafoen,
es0) erg0ooen, (@8, 3dogren, Jn¥) e, BodHeom PHI)ow.

5820 (R): &8 orargo 5703°0 16s TRNA & ¢5850h00 Boo (s Rdoreaeoom

QY LO W .
P
The correct answer 1s ‘»

HBFS BETTHE0 &

Options :

Both (A) and (R) are true, (R con ect explanation of (A).
(A) 8050 (R) e Bocéa" 8. (R) @38 (A)%o 30508 JSYeo.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) J08050 (R) e Bodsr S8, 570 (R) 938 (A)% J031S Db8e s5°&0.

(A) 1s true but (R) 1s false.
(A) $05058, 5 (R) 05088 576,

(A) 1s false but (R) 1s true.
(A) S8R 5760, 57 (R) S0Z0sb.
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Question Number : 3 Question Id : 7512365123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following :
List-1

A) Sutton and Boveri

B) EW. Went

C) Hargovind Khorana
D) V.S.Rama Das

& (§0d JLFod =ussrdol.

H8E -1
A) JLS Sodcn 538
B) FW.308
C) H6RJ06 b’
D) VS.ocomo

The correct match 1s

58308 S°60Y Q}

A @B (0 'SD)
|\ 1T

I I

@A @ © O

V. m I
@& @B © (@D
., I I @I V

&S 2 BEB¥

List-11
Identification of Auxins

Discovery of zymase

288 -11
s8Hood Kfoddo
éa@&%ag D0Fhe0

FESS” F' A0 NS
& 8oirSdo
880223y DoRBrHISod Ddded

Artificial synthesis of the gene
Role of chromosome in heredity

Contribution in C, photosynthesis
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Question Number : 4 Question Id : 7512365124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fusion between one large, non-motile female gamete and a smaller, motile gamete 1s
called

DEMHY) BSOS SIS § SoRrKideinG' Srf) S0l vodridao Sodrhe BoBr)

B 2O
Options :
Isogamous q
5% Ho@io Q,\
1. W
Anisogamous é/&
©d% HoRHKo O
2 é
Oogamous Q/v.
®od doddrio &@
G2
Transduction
BRI DO
4

Question Number : 5 Question Id : 7512365125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Small specialised roots called coralloid roots are associated with N,-fixing cyanobacteria
n

Fderond 38 odwd DG, HBgEDS I SP=d FIS Vobie oIS wr§ddiros’
Br&dd BAS* Hodrom.
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Options :
Pinus

—

o s i
1 . B

Cedrus

EVTS

Ginkgo
0§

Oy
S
A
&

Question Number : 6 Question Id : 7512365126 Question Ty Q} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vert

Arrange the following in order of the; 'Wi‘ence (from top to bottom) in the regions of
the root tip Q,

Region of maturation @
Region of elongation «
Region of meristematic activity
Root cap region

<HBT

35S Dodeore chodh o |FToerod (D 00s Bods) SHdm wHg)od.

L 3008088 @rogo

I 2£H 2D0R @rodo
M. s 2280 @rodo
IV. 3I&%&%% Ko | @rodo

The correct sequence is
QOFToSd (B0
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Options :

LA, 1L 1Y

L. 51N 1

| A ] A o b

L I 1L 1V

4

Question Number : 7 Question Id : 7512365127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists: ,9
List-1 Li

A) Cypsella I) plackfrut

B) Schizocarpic [@-m’m

C) Caryopsis Rice

D) Composite fruit @V) Acacia

Q/V'
Bod JPsod a2dsrdod:
288 -1 &@ 288 -1

A) Jer I) $38%

B) ass0\§ ) @&z%
C) &SS5D=80 ) $6

D) Jo&rkdeo0 IV) @sdalr

The correct match 1s
Ef)@g.:)oéﬁ 23¢%

Options :
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@ @& (©) &)
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A @ © @D
I IV I
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Question Number : 8 Question Id : 7512365128 Question Type : MCQ ptmufﬂing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In Calotropis, the aestivatitc%d to be valvate.

Reason (R):  Here the sepals or petal@
without overlapping.

horl just touch one another at the margin

gy (A): 3SR (38%50650 Q00T YYYOWS Earbocndor Byw&ob.
57800 (R): a8 é@d’noe&géé@*m 3o BET JT0 VOO JE &8 wETVEEL

VETGR0 EEOT YHOoLrow.

The correct answer 1s

SIISS VRSO aRIe

Options :

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
(A) 0880 (R) a0 Bodor S8G08D. (R) @38 (A)S S80S0 Jhdeo.

collegedunia

—



Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 500050 (R) &0 Bodr 586305, 5 (R) 938 (A)& H0&0S S8 5.

2.

(A) 1s true but (R) 1s false.
i (A) SBRIG, 50 (R) S0&Z0ds 578,

(A) 1s false but (R) 1s true.

(A) SBRIB 57, 570 (R) S0&Z0db.
.

Question Number : 9 Question Id : 7512365129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In flowering plants, both male and female @rs may be present on the
same individual, called “dioecious’ or pre@ separate individuals, called
“monoecious”.

Reason (R): In flowering plants. the 1u1isexua%a}le ower 1s staminate, 1.e., bearing
stamens. while the female 1s pi@ . 1.e., bearing pistils.

S,

g (A): Q)T 0T, YOI fu@ @Jﬂ Qirye0 8 IV D & o8 &domrFod
28 ©d, So Fok wﬁ D6)aB ‘VEdomFas 8’ © &Y ot

&

80 (R): J)oTang) &’ 3RTH Sr@d $88 800ihinyQ) HoBPQ0’ o,
WO &8 TQ) O3 YA E_.g @ﬁﬂ)o* OQ WOiIrd.

The correct answer 1s
QOGN JIoegrd S

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) 8052 (R) &0 Bodsr H0&0S8D. (R) @38 (A)So S03S DS5Yeo.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 08050 (R) &0 Bodr $8G308. 570 (R) @38 (A)S S80S DS s°&.

&
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(A) 1s true but (R) 1s false.

(A) S6RIB, 570 (R) 650858 5.
=

(A) 1s false but (R) 1s true.

(A) DVIB 5760, 572 (R) S8 36.

4.

Question Number : 10 Question Id : 7512365130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical angiosperm embryo sac, at maturity. 1s

Doge s Bds HoUus Ho SISEC TN Léo&c;@v HoLnod

QO
‘v
7-nucleate 8-celled é

O

T-80|E857050e  8-egren §

Options :

[y

8-nucleate 7-celled Q,v

8-Soissrasndg 7-8 WK@

8-nucleate 8-celled

8-Soisradng 8-Searen

7-nucleate 7-celled
7-S0|E85a50e  7-8eamen

Question Number : 11 Question Id : 7512365131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which of the following plants. hydrophily 1s a common phenomenon

Bod W& &) I S° ‘RweITH BodG0 Ferde $TEE ddcho
Options :

Water hyacinth

YY) B8

1 o

Water lily
" O Eend

Hvdrilla

Oy
N,
e q,Q

=

4 hophall é
Amorphophallus o

-
@aﬁﬁé':) PO
“' F
Question Number : 12 Question Id : 75123651%11}15 on Type : MCQ Option Shuffling : Yes Display Question Number : Yes
: Vertical

Single Line Question Option : No Option Ori
Identify the correct combinatiﬁof the plant with the family 1t belongs to

Bod &) TES* I K T°A8 HOGE Jowodo Ko Kivowo &) TR Hfotod

Options :

Gloriosa superba - Liliaceae

| Fodirar 5Ty - DOGhY

Lycopersicon esculentum - Fabaceae

TE 0G50 Wiy Eodoad - FBR

2.
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Phaseolus mungo - Solanaceae

DOADrOD VoA - FOID

Aloe vera - Fabaceae
@e5® JO° - B

Question Number : 13 Question Id : 7512365133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The floral formula Br, Brl, %, ? s K5y, Cri2:42)» Ag9)+1, G belongs to

'éa @éo) éogéo D 3.3052,_55& ég@@& Bl‘, BI‘], {VO, & (5),C1+2+(2),A(9)+1,G1_
Options : &W
Solanum nigrum Q,

oDl JUTO §
i,
Pisum sativum Q/v.

D0 &S
Allium cepa
©doHo S
-
Withania somnifera
| ITIr Do

Question Number : 14 Question Id : 7512365134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following lists :
List-1 List-1I

A) Amyloplasts I) Colour less plastids of varied shapes. sizes
with stored nutrients

B) Elaioplasts I) Store protems

C) Aleuroplasts Il) Store carbohydrates (Starch)

D) Leucoplasts IV) Store oils and fats

V) Store carotene and xanthophylls
Bod JPson =85rE\0k.
H838 -1 2838 -11

A) OPSPYen D 2I§ ssoren, S0Srerren §O Jend
o8B FIzen o JorhB TR

B) 203rypw I @885 d 2

C) oogdraen ) s8¢ QendR D (Dod SEgen)

V) oSS0 ST

The correct match is v.s:
5008 2 Q/

@ B (© ﬁb)
m N I I

D) $gcirsarges IV) w;&@@sem De0sEHD

d,

@A) B (© D)

@ @B (© D)

1 E
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Question Number : 15 Question Id : 7512365135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Identify the following biomolecule :

Bo& YN £ wewHdo K8oHod.

I
|
B~ 0-0-0H o N
[ QO
Ol 00 -R, v

The above biomolecule 1s

S HELS) 25 w0 Q/V'

Options :

Tnglycenide &@

@Q&@_m&

Glycerol

' Qéo*e’i-

Phospholipid
FINODE
3.
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Cholesterol

ST S
4, -

Question Number : 16 Question Id : 7512365136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct combination of statements.
During leptotene, chromosomes become gradually visible.
Nuclear membrane and nucleolus do not reappear in Telophase I of Mei1osis 1.

Anaphase II does not begin with simultaneous splitting of the centromere of each
chromosome 1 Meiosis II.

< BFAT

Prophase I 1s characterised by appearance of bivalent chromosomes as tetrads in
Meiosis L.

e

QOGRS Foows o Tgpgo Miowok. q
I BI85 oot EardSow ESom m@?
I Sog&&rbio Sodakin SolsroTen e—.ooégéé&): o0 1 &° 88a EQH0EY).

. Dcsrol IS (K8 F'IrAF0S’ 0o & DFed a8 JHoHoes® =20R TS’
Fo8E I doden 5.

V. 33808 E3rdSw BEranse @fboﬁ R S0 Dosrdd 1 6% BEs & 1

o805k 808. Q,

The correct combination 1s: &
Q0TS Foows:

Options :

HandIV
308050 IV

[and I
S08csn II
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IlandIV
[ 58050 IV

TandII
508050 11

Question Number : 17 Question Id : 7512365137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following cell-type 1s not dead at maturity in angiosperms?

58 D’ J SBOS Ead¥o Soyss0o 550

N

Sieve tube elements &
TOITY SoresTen C’Q,

Phloem fibres $
A8 S TP @
9

24 &

Vessels

T JPoRe

Xylem fibres

o0 Srden

Question Number : 18 Question Id : 7512365138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Inmonocotyledons, vascular bundles do not form secondary tissues.
Reason (R):  Inmonocotyledones, cambium is absent in vascular bundles.

g (A): DEEY DS, TS Yowren B8N SmEraroy JBEUY.
580 (R): ESY D, Fad Eerd® TITYord” STVN0b.

The correct answer 1s

JBGY DEFTHBE

Options :

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
(A) 00050 (R) e Bodsr H50a08. (R) @3&&)&: DO DHeo.
N

il

Both (A) and (R) are true but (R) 1s not the ¢ explanation of (A).
(A) 58050 (R) e Bodr 5863059, 570, 036 (A)& ¥BGS DS 6.

(A) 1s true but (R) 1s false. é’

(A) 66058, 53 (R) éa@}m

2,

>

(A) 1s false but (R) 1s t;'t‘l?
(A) S0 570, 570 (R) 38&08&.

4.

Question Number : 19 Question Id : 7512365139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : “Adaptation’ for coping with environmental extremes 1s defined as any
attribute of the organism (morphological. physiological, behavioural) that
enables 1t to survive and reproduce 1n 1ts habatat.

Reason (R):  Plant adaptations have evolved over a short evolutionary time and are due
to changes that occur in genetic material during acclimatisation.

g (A): 2D T sTV0S” HHDHEL, HEgHBE STETA (Je8rd dowod, 08
$8), D008, [@DIZS Sowol) vETrol, VIkEre HoPH O SRE'IE IS
VLErOT M ATEA0T .

5820 (R): & derinds® a:éogé.’)m“goé* 3 Y© 50 30 © VNErOT O KOETOE
D0 FOIEN0S” J008 Tomrow.

The correct answer 1s

QOGNS dSrerdSw ‘»Q’\q

Options :
Both (A) and (R) are true. (R) 1s the t explanation of (A).
(A) 500050 (R) &0 Bodr 585056 JR) 038 (A)% $8&0% dSde.

Both (A) and (R) are true but (4 35 not the correct explanation of (A).
(A) 50805 (R) & aom&ma. 50 (R) 038 (A)S $650s D560 5.

2

(A) 1s true but (R) 1s false.
(A) P80&B, 5 (R) H050&58 5.

(A) 1s false but (R) 1s true.

(A) %858 5%, 59 (R) 8036,
4.

Question Number : 20 Question Id : 7512365140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify a combination of ecological adaptations in xerophytes.
L  Cuticle 1s totally absent.

Il. Hypostomatous and sunken stomata in some plants.

IM. Root caps are usually absent.

IV. Well developed root caps.

AE0 J0E o ol B vEroTw o Soonsd) Hodod.

L 85888 (9d3270Q) From S*adob

I Jgdorren J@go ufwrdry N6 1oS" Do Hfads JGdogen §Q) I8
oI o0

M. 3%H&EK Fordoom S*hod Hotood

IV. o @9@5&% T08S I%&en

. N
The correct pair 1s Q
DO 2 ‘»

omions A
Iand I C’Q,
N

I508050 11

I and I11 &0_;

i I S08050 T

MMandIV

I S08acs0 IV
3.

HandIV

M 308c50 IV
4,

Question Number : 21 Question Id : 7512365141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following in the pathway of water movement in the root.
L Cortex

II. Epidermus

. Pericycle

IV.  Endodermis

I cHo A KIS JPododd Bod T wHdod

Ie) 00
IL za*?’mgzﬁd&éw
DO E B0

V. @oér‘at‘)décﬁn

The correct answer 1s é
SIsTov RSN AR NG é’

Options :

L IL IV. I Q/v
1 &@

L L Iy, 1

2

i 1L L IV

L 1L Iy 1Y

Question Number : 22 Question Id : 7512365142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Potassium ion (K™) performs which of the following functions in plants?
I  Itismvolved m protein synthesis.
I It helps in photolysis of water during photosynthesis.

Essential for the formation of chlorophyll.

IV.  Maintains anion-cation balance.
V. Required for pollen germination.

S8 & FETraco ooSrS(K) 265 d¢hen & 18od TS AD?

L @88 303800 o

I 8eusg SoRrHod dhoth 57088° A& DES DFPahBHEL0
g‘ﬁsﬁieﬁ W0 Ddgcécéoe’f‘ S0P o \Q

IV. eddro-srbhdirde ddodogd ?ééﬂ% &80

V. Jooidsnden Inessrdosn é

The correct combination 1s é’
P0G Swows:

, D
- @

[08050 IV

1

Il ITand IV
I, I o800 IV

2.

[LIMand III
LII308050 1

collegedunia

—



OOLIVandV
I IL IV %8050 V

Question Number : 23 Question Id : 7512365143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Glucose + ATP Hexokinase > Glucose — 6 — Phosphate + ADP
Reason (R):  Enzyme which catalyzes this reaction belongs to enzyme class “Transferase™.

3}*5‘&5§

Jgwg (A): Kr8'& + ATP > 88 - 6- @"i:o)én + ADP
w800 (R): & S8 &@3)008 IIBR WrQ)Rtd o ISBI S6H8E Dokdod.

The correct answer is q

HOGS BIrEHS0 Q
Options : W

Both (A) and (R) are true, (R) 1s the ct explanation of (A).
(A) 805w (R) e Bodor S0 R) @38 (A)% 0508 JS8ea.

12

Both (A) and (R) are true b%)&s not the correct explanation of (A).
(A) 50050 (R) &0 BodAIEHSD. 59 (R) €38 (A)% $0GS D8 5.
o 3

(A) 1s true but (R) 1s false.

(A) 985058, 59 (R) 05056 5.
4

(A) 1s false but (R) 1s true.
(A) D0RI& 5760, 57 (R) S050&8.

4.

Question Number : 24 Question Id : 7512365144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following co-factor is required for splitting of water in oxygen evolving
complex associated with the PS IT in green plants during photosynthesis?

SHDH I0g) e’ 8¥adgHoRrKBoh oo Bz ddde doflo PS II &
WOJI0FAoTDE A 5)3‘)526955 SIRFRIB JT 58550 A6?

Options :

Mn

5

Fe

2.

= Mg q
, Cd ‘]9’\
A

Question Number : 25 Question Id : 7512365145 Question Type : ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertica

Assertion (A) :  C, plants show greater pr@vity of biomass than C, plants.

Reason (R):  Leaves of C, plants hay 1z anatomy” where bundle sheath cells lack
Rubisco enzyme. A&@ it C, plants lack photorespiration.

g (A): C, 30 en (73&560 08 A8 S LHBI0°3 GSYEESD TorA000.

820 (R): C, 308 S e’ 570& ©wod0)oe00 8 "oz & Seomen SO,
ASFN STw0d Potron. &I sdwor C, g os* 5708 FHB0
€O,

The correct answer 1s

DOGS JJrdd0
Options :

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) 500050 (R) &0 Bodr $8505. (R) 938 (A)s 30508 JSde.

{7
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Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
" (A) 0050 (R) &0 Sodor 503308, 570 (R) 9386 (A)S H050S D80 578,

(A) 1s true but (R) 1s false.
(A) SBRIG, 570 (R) S0Z0dd 578,

<

(A) 1s false but (R) 1s true.
(A) 500858 50, 5 (R) $6&056.

4

Question Number : 26 Question Id : 7512365146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the followmg lists : Q
List-1 List - 11 Q\
A) Decarboxylation I) Fumarate Wlate
B) Hydration II) Oxal mic acid to o-ketoglutaric acid
C) Dehydration I F #On of citrate from OAA and Acetyl CoA

D) Oxadative decarboxylation — IV)
Vv.

& (808 Dol 28048. @@

5658 -1 5638 -1

A) é-STO‘Q§J855 DgDTE Jod SrSE

B) 32088l e5)eS” D88 w0 Dok 0-8¢5° KrerdE wdo

C) Qgéédw&ﬁw OAA 508050 Q28S CoA Sod DB $aird

D) §)88e0-857on8)84S DB Hod JRIEIBE w0

0-8¢5° K5rer08 sdo Mook $§) 6 CoA

e to Cis-aconitic acid
cetoglutaric acid to succiyl CoA

CR-D-P-k-

The correct match 1s
:68@365 2368

Options :
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@ @B ©) @)

V I \Y I

@ @ © @)

@& B © O
I I v V

A @B © @D

I\Y I \%

N>

Single Line Question Option : No Option Orientation : Vertical

Question Number : 27 Question Id : 7512365147 Question Type : MCQ U[@Ifﬂiﬂg : Yes Display Question Number : Yes

With respect to oxidative phosphorylation, the t combination of statements 1s

|

IL
ML
IV.

Cytochrome ‘C’ oxidase complex co ochromes a and a,, and two cobalt

centres.
Cytochrome “C’ 1s a small mobil $0n carrier protein.
Oxidation of NADH and FAD% e rise to 3 molecules of ATP.

Light energy 1s not utiliz% the production of proton gradient required for
phosphorylation. «

‘@%}éds’a a«%wm’ S0 /RS Trgpge Swons 28?

L EED C o8)3& J08ko choch DT E' a, $o8cin a; Hodoin Bod earg
sSoen Jodrow.

I 28D C a8 O AOES TTE ES.

. NADH &06a50 FADH, o es§88e0 $o 3 ATP wenyen dairdHheron.

IV. 508 ava:)@émses*‘ FTYBBAIE IS PP @S0d &&88 5od¥ER
& IRrAoTE 0.

Options :

[and I

1

[S08a050 1T
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HandII1
. 508050 I

andIV
0850 IV

HandIV
. 500050 IV

Question Number : 28 Question Id : 7512365148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ethylene is a simple gaseous plant growth regulator.
Identify in which of the following the ethylene 1s syntl in large amounts by tissues?

Senescence (»

Ripening of fruits &
Actively growing apices of stems and 1‘0@

Cell division promoting activity @

gER"

ABOS ¥ JEES a*oﬁoadréo@‘%%&né& wHHEL Johogso. Swwrerd’ I8
2 HSGIVE, IBOS I8 S “@F 0&5® HoFnotwdd ol HjoEod?

55 A

I Sereo H¥0 BoRiodyd

I srodo 0o I HHsmr DOR Fden

IV. o0 a8 (@000 &5y

=

The correct answer 1s
é&@:é QAT S0

Options :

Tand II
[ 508050 11

1

collegedunia
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Mand]l
" 58030 IIT

MMandIV
[ 508050 IV

[Vandl
IV $58050 I

4

Question Number : 29 Question Id : 7512365149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

List-1

A) Photoautotroph
B) Photoheterotroph

C) Saprophyte
D) Parasite

& JLsod aaééwqboa%.
=&

5838 -1

B) 508 J8Fasren

C) IrésStHen
D) JodHBHhen

The correct match 1s

é&@aé 23¢5

Options :

&2

A) 508%¢0%0 FasTew

Q%St -11

Xanthomonas

&]1) Rhodopseiudomonas

)  Bacillus
IV)  Chlorobium

S88 -1
) arodEraoe
) &EErEdIros
) arded
IV) §6Dabo

collegedunia
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@ @B © O

@& B © O
vV I m I

A @B © (@D
s I W B 1@

@A @B © @O
I vV I I

4.
Question Number : 30 Question Id : 7512365150 Question Type : MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical \
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Match the following lists :
808 &) &) SYES 285-8\08.

List-1 List-11
o838 -1 w838 -11

A) I) Lambdaphage
pleThg DE
D
B) CWQ MV
& 8.0

C) ) Adenovirus
&@Q/ 03I IED
D) IV) HIV
P00,

V) Bacteriophage
TEORr>rE
The correct match 1s

DO 28

Options :

collegedunia
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@A @ (© D)

A B ) ({O
> V I I I

A @B (©) (D)
N E W 1

@& B © @D
«HH ¥ W 1

O

Question Number : 31 Question Id : 7512365151 Question Type : MCQ Opti ming : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a Mendel’s dihybrid cross, homozygous, domi
with a homozygous recessive wrinkled green
dominant over wrinkle seed shape (r) and y
seed colour (y). what 1s the expected per

yellow seeds 1n the F, population in the'&

two genes. Q/v

F008S 28OS BH0E0EGWO ga‘a@dﬁ 0rdd HoEQ, Y IgoS® Ko ITren
@5& 238 I8 & J0raod Swdoden I8, sHIW) oS o voddd ST
238 g oF H0808000 20T, HoEd JgTren (R) Ao ofpo Sndden H6S ofmo
(1) 2 25rgdo. DY Igos® o JI8So (Y), sHIHA o fo I8So (¥) 2 2wrddo
o8 Faserd®, Sondden S68 0809 Sgosio F, 5088 ddsre T80 B00808800”
OSM &Iroiwy? dTreoME & Tok adgHe Dy S

t,mld‘ yellow seed parent was crossed
arent. If the round seed shape (R) 1s
eed colour (Y) 1s dominant over green
e of obtaming F, progeny with wrinkled
rid cross? No linkage 1s there between the

Options :

Approximately 19%

1 o) 19%
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Approximately 56%

_To 56%

Approximately 33%

. oY 33%

Approximately 75%

5 oy 15%

Question Number : 32 Question Id : 7512365152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following trait was not studied by Mendel 1n his work?

N

Bod 2&YK) 85 0S” Bodd FESD ?6‘&5‘ B\0&?

A
&

Seed colour @
. QB0 Joid Q/v
Z.

Stem height &

5080 D&

Flower colour

Do Goid

Capsule shape
4 098 w5780

Question Number : 33 Question Id : 7512365153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

—



With respect to DNA synthesis, identify the correct combination of statements.

L  Always the direction of DNA polymerisation is 5' — 3' when referring to the polarity
of strand being synthesized.

I. DNA ligase forms hydrogen bonds between two newly synthesized DNA strands.
III. DNA polymerases on their own cannot initiate the process of replication.
IV. DNA polymerase can catalyse polymerization in both 5' — 3'and 3' — 5' direction.

DNA $03%008 0020800 30308 argpge Swondlo Kgowod.

L &S 3030e0S" $)Bdco $00d) BDYSYHH, DNA OSBBAS Jodyds 5' — 3
I Yotwod.

I &g dozie BobdSd DNAFSe H&38° DNATAE @28 00i ol J8)5080008.

. DNA F953&en 8808t adomr DNA H85)8 Isennidy.

IV. DNA 0538, 5'— 3' 500030 3' = 5' 3o 39er @285 e@do Sabrod.

Options :

I, Il and IV q,Q

) II, IIT So8ad0 IV OQ,

[and II
| [3508050 11 Q/v.é
9

Iand «

[S08050

MandIV
I %8050 IV

Question Number : 34 Question Id : 7512365154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following lists :
List-1 List-11
A) Erwm Chargaff
B) Fredernick Griffith
C) Alfred Hershey

Transforming principle
Nuclein

Ratio between A and T and that between G and C
are constant, each equals one

Biochemical nature of transforming principle

DNA as the genetic material that 1s passed from
virus to bacteria

D) Colin MacLeod

sz g8°

808 HBEDH 288708 :
58¢ -1 58¢ -1

A) IEIS TETH 505GS DETosHN
B) &5 %S

ArgES :@
O) eS@& b VAR m§§_§h5 DEgHo AQG, ML
;’Joﬁa‘i)& O fo Jden A80. @8 QS

&ééﬂ@b‘a’:o.

DETod B56F0HS B
%S0 O 280§0Tgo DD $00& eaﬂgf)ot’noﬁoéo

@ PI30uko
The correct match 1s «

Q0D 2

ERCE

D) 5§05 5r8053>& V)

Options :

@ @ © @)
I II \Y% I

15

Aa @® ©O© @O
I IV N

@ @B © O
I W I %

3
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I I [ V

Question Number : 35 Question Id : 7512365155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The structural gene 1n a transcription unit can be said to be monocistronic
or polycistronic.

Reason (R):  In eukaryotes, the monocistronic structural gene has mterrupted coding
sequence - but the genes m eukaryotes split. The coding sequence or
expressed sequences are defined as exons. Exons are said to be those
sequence that appear in mature or processed RNA.

g (A): w8 Qoeord E oy Wiredn wldpdo Sod eI LS S
ﬁﬂ@i}@@gﬁ" Bdydod. q

80 (R): Q50188 2Heos® rITVLIE oy xg@m YOS TOSred Sr&S
5088 Eires® Hoiran. S m& £9S* aghen DESELO

(split) Hoénod. S088H @ 0 BE Hg8H0Bog wihEsreods
AT 0 Wokrdd. HOHES Q00T 8 WHESTrOI DR o

208, @

The correct answer 1s @
JOGS DIPEHSI0 ,@
Options :

Both (A) and (R) are true, (R) 1s the correct explanation of (A).
. (A) 880 (R) e Bodor H0a0&d. (R) @38 (A)S 030 JH5deo.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
_ (A) 508050 (R) &0 Bodr $853052. 5 (R) 038 (A)% $0508 S8 .

(A) 1s true but (R) 1s false.
. (A)D0GH38, 52 (R) S0R0s8 s7¢.
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(A) 1s false but (R) 1s true.
, (A) Q0TI 570, 50 (R) 388038

Question Number : 36 Question Id : 7512365156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Restriction endonucleases cut the DNA molecule at specific sifes.

Reason (R):  Exonucleases remove nucleotides from the ends of the DNA like that of
endonucleases.

Jgwg (A): BRES Q0& 8rg8 Fodeo DNA weodHd $8g8 LTS FdoHhen
230X S°0N.

5800 (R): 28)3rg8&e0, DNA o Srg8Brdsodh Qo0& Srg8dhde I8

& OAJTOW. \q

The correct answer 1s C»Q
SISV RSO m A a&

Options :

Both (A) and (R) are true, (R) 1 orrect explanation of (A).
(A) %8050 (R) &0 Bod :@53. R) 036 (A)% 5608 5.
.

Both (A) and (R) are tmeﬁlsl ) 1s not the correct explanation of (A).
, (A) 8a5n (R) oo Bodksr 50082, 77 (R) 9386 (A)8o S0G0d 8 5.

(A) 1s true but (R) 1s false.

(A) P8R8, 570 (R) S8Z0ds 578,
3.

(A) 1s false but (R) 1s true.

(A) 505058 5, 59 (R) H0G058.
4.

Question Number : 37 Question Id : 7512365157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A cloning vector should possess which of the following characters?
Origin of replication (Or1).

Ability to destroy the alien DNA.

Cloning site to link the alien DNA.

The tumor inducing plasmid Ti.

Selectable marker.

REZ&FFT

Low molecular weight.

§'Q0A 2YIEA8 GIRrHIE T80 HBod TAS* o) ofsro 08 Gowd?
©88)8 wdonso (On)

Togdds DNA & s¥do Bohrio rdogso

o0 DNA & Sendboso So §Q0hA S0 Q

orgiobo (w0208 Ti FRyGen Q

DONE 30‘5065{,? 35°8).6 &‘»

$80) &5 weaoerdo C’Q/

The correct combination 1s v.s
Q0TS Swows: Q/
Options : «@

LILTV.Vand VI
LILIV.V&%8csn VI

S < 2BER -

1

LI Vand VI
i LI, V %8050 VI

LILMTandIV
; LII IIT 08050 IV
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I, I IV and VI
I I IV %8050 VI

4

Question Number : 38 Question Id : 7512365158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Bt transgenic crops are more tolerant to abiotic stresses.
Reason (R): Bt toxins are coded by 'cry' genes.

Jgwg (A): Bt 25450588 Sobeos ©2Sd0208Rd S0 SLREI PIGgo
DB I Yoo,
s600 (R): Btr§iood ooy’ adogd Sosgo.

The correct answer 1s Q\q
H0GS JSrESS &q,

Options :
Both (A) and (R) are true. (R) 1s tl@ect explanation of (A).
(A) 58030 (R) e Bodsr $6 . (R) 38 (A)S 50508 Jd5Yeo.

1

Both (A) and (R) are true. %is not the correct explanation of (A).
, (A) So8asn (R) e Boéﬁ&@é&). 50 (R) 938 (A)% 30508 D80 5°&o.

(A) 1s true but (R) 1s false.

(A) 585058, 52 (R) $65056 5°¢0.
3.

(A) 1s false but (R) 1s true.

(A) DSBS 570, 5°Q (R) S0Z0db.
4.

Question Number : 39 Question Id : 7512365159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following :

A)
B)
©)
D)

So&

A)
B)
C)
D)

List-1

Pusa Swarmim
Pusa Shubhra

Pusa Sadabahar
Himgiri

TPAR 2BSDEIT0AW.

588 -1

)RS IYe) NV
T DE

%) M R ST bo o)
o200

S 5 B8

==

G,

&

The correct match 1s
,{o

éagoa’) 2365
A ® (©
1_ I V
@ ® (©
. I N I
A ® (©
| \Y4 I i

(D)
\Y

(D)
\%

(D)
I

List-11

Chally mosaic virus
Bacterial blight
White rust

Black rot

Hill bunt

588 -1

DTS oFgons I

28 [ 0)
a«

Q8
TS 208

BooBo Boen
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@ @B © @O
\% I I il

Question Number : 40 Question Id : 7512365160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Silencing of a specific mRNA due to a complementary short RNA sequence that binds to
and prevents translation of the mRNA 1s called

©8g8 mMRNA & 28 S0rd8 RNA oo Sod odhaa) 8 Goddo $o e mRNA
Silence @Hood. &) DH0ErE?

Options :

RNA hybridization
1 RNA $088e0

RNA complementation &
, RNA 57003008543 C’Q/

RNA mterference

3 RNA Sg&88e00 Q/v
&2
RNA splicing

RNAD Q?ooﬁ
4 &

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa
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Statement (S) : Species 1s a breeding unit.

Reason (R): A species is reproductively isolated from the mdividuals of the other
species.
g (S) : TS o PSS Hdrwo

5800 (R) : 28 8 HoH TobS LIHoE PSS IIESD PEBN0b.

The correct answer 1s
SOTS JBrGSH0

Options :

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
, (8), (R) &0 Bodor 30g8032. (S)50 (R) 30Fo& DSk

Both (S) and (R) are correct but (R) 1s not @Ct explanation to (S).
" (S), (R) &0 Bodsr S8RST 5°Q (S)%0 &6‘6&@5 DB 5.
(S) 1s correct but (R) 1s not corre ()Q,
(S) 505038 5 (R) S650&
=5,

(S) 1s not correct but ( @orrect.
(S) 585058 5% 5 (R) $653058.
4,

Question Number : 42 Question Id : 7512365162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diversity within a particular area, community or ecosystem is called

28 QPR @Fodo, ddrzo B Lardde SgHPS IV SV DeOAL.

Options :

Alpha diversity
i S lalye

collegedunia
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Beta diversity
. Al IDEgo

Gamma diversity

T ao® g&’)dgo

B

Delta diversity
Ber IIGF0
4,

Question Number : 43 Question Id : 7512365163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following: ,9

Set-1I Q Set-In
A) Acoelomate &‘.k Earth worm
B) Pseudocoelomate Q/ II) Acomworm
C) Schizocoelomate é’ II) Tapeworm
D) Enterocoelomate IV) Round worm

&
8od I8 aaé:ﬁdoﬁaé&@

588 -1 588 -1

A) ©IdEKSEo ) oS&FS0

B) ogrg #08805d0 ) 5§ &6
C) af¥ 685550 ) o3 Hoid

D) wol$ 3685580 IV) Kogd HHd

The correct match 1s

RO 28

Options :

collegedunia
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=
= O 2 g

L

\Y
L
\Y

B
I
B
I

Single Line Question Option : No Option Orientation : Vertical

Question Number : 44 Question Id : 7512365164 Question Type : MCQ OptiﬂrE ng : Yes Display Question Number : Yes

Match the following: ‘»
Set-1
A) Astrocytes I) ement of cerebrospinal fluid
B) Ependymal cells c&yelin sheath around axons of CNS
C) Oligodendrocytes Myelin sheath around axons of PNS
D) Shwann cells Q/ Formation of blood - brain barrier
808 TEI @SB S0%0. ‘\
588 -1 588 -1
A) @@”ﬁmm I 53?35%3363 B3 BEOE
B) J2o&%0S Segren II) Sogsd S§IPS” So@sgro iy
VoHO DY
C) ©dfRoIEplven M) H580%H & ;’)S&’)Qé‘ SoI85°Fe Wi
H0oHNO Y
D) &gS Seoren IV) S¥o-&d oS8 ) 80w
The correct match 1s
DOGS 28

collegedunia
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Options :

A B i D
. I | I
A B C D
I I I I\Y

2.

=
=

3

-

A
I\Y
A B 3
\Y I I I

4, ,\q

Question Number : 45 Question Id : 7512365165 Question Type : MCQ O uffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with r

ce to Cmdara.
el organisation.
loblasts.
production.

D. Development is indil@a d mcludes planula larva.

A First metazoans to exhibit tissdle
B. Contain stinging cells cal e‘él

C. Reproduce only by se

QRBABE Ho0foN SBGHS Fgpgosd Hiowkod.

A 2D Sewro Fon AoErd) BE0)B s widvse Lhe.
B. 20 §Saren ol Hdy Sorosh 04 wolrow.

C. 20 Boff Hégé8 oo Sr@d HEgeB8 2dHerow.
D. e orogdo 8OAS D68 STARAR

Options :

A&C

1
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A&B

A&D

2

B&D

4.

Question Number : 46 Question Id : 7512365166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set -1 Set- 11
A) Tomana I) Neometra
B) Brachiolaria ) OPalanoglossus
C) Pentacrmoid @’\ Holothuria
D) Auricularia &% Pentaceros
1808 TPEQ 28380t 00. é’

588 -1 \"o 558 - 11
A) G000k @Q’ D ddrdEr
B) (r83>r88c% ‘\ ) FoSTss
C) ~odr @_mmé ) &5 ¢t 6o
D) es0%3800% IV) 20éro°®

The correct match 1s

RO 28
Options :
A B C‘ D
I I I\Y

1.

collegedunia
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Question Number : 47 Question Id : 7512365167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following characters: ,9
a.  Aquatic (marme and fresh water) fon@
b. Body scaleless &

c. Cartilagmous endoskeleton Q,
d.  Renal portal system absent @

808 ofro XJS%@oiSOé.Q/

a. 2088 (dd04, &) BHew
b. QFrdn Fendd Gordo

C. )oory dind wodTeuoalo
d  S%odS JE) JogrE D550

The above characters are found i

2 oforen 28S° doltrow

[,

Options :

collegedunia
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Chondrichthyes

STOG8w
Hemichordata
TEPL
Cyclostomata

BEYIG

Cephalochordata
PDIFSEYL
4. q
Question Number : 48 Question Id : 7512365168 Question Type : MCQ O@ufﬂmg : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical :

&
&
&2
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Match the following:
Set-1

A) Chelonia

B) Rhynchocephalia

C) Crocodilia

D) Squamata

1508 TPEQ 28080V 0.

538 -1
A) DS
B) &of oo
C) |§5a&dc%
D) &gdotr

The correct match 1s

QO 28

o g
=
=ille

= > B P
- Ew

< w

Options : Q
I
D
v
D
I
D
I

Set - II
Sphenodon
Hemidactvius
) Testudo
IV) Gavialis

==
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Question Number : 49 Question Id : 7512365169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The communication tubules of flagella which connect the basal granule to plasma membrane
and nucleus which can pull and alter the orientation of flagellum are

S5 §e3880 FFBeS0, SoEE0S” §O, E7erQ) erillidn, BATT ) SR FBReS
QOXE JrE) TYsew.

Options :

Dynein arms
BIQ TV
1.
Trplets

O
BECST e N
z S

Doublets

A
GS0l$ BrgT9Een éé(’

Rootlets Q,v
" ROT°ETT &@

Question Number : 50 Question Id : 7512365170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa
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Match the following:

A)
B)
€)
D)

8od

A)
B)
C)
D)

List-1

Bmary fission
Multiple fission
Sexual reproduction
Conjugation

TR 2SS0 0.
838 -1
=

8T QNG
TV 3)122)@
SoNs RSgHS
Q0080018500

The correct match 1s

SlsTon VN1
Options :
A B B
. d m N
A B £
NV I m
A B i
I I V
=,
A B C
II 1\Y I

List - 11

Unfavourable condition

Nuclear reorganisation
) Favourable condition
IV) Genetic recombination

==

2838 - 11
D Eesre 50p%0s”
IT) @@Sé @édoggéfgédsa

N

W0Ere é&?gé&&:eﬁ"

&‘? 20g YED0BrRN0
&

&

= O

C
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Question Number : 51 Question Id : 7512365171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:
List-1 List - 11

A) Parasitic Castration I)  Abnormal increase m the size of the host cells
B) Neoplasia II) Increase in the number of cells of the host
C) Hyperplasia II) Degeneration of gonads of the host
D) Hypertrophy IV) Abnormal division of the cells in the host tissues
leading to cancer
V) Abnormal increase in the size of the host
808 T 2SBS0,
2838 -1 2838 - 11
A) SodES s RaS ) ©8Fow & a’aﬁi@o@ 0 DlKkde
B) d&>rTdoh ) «83cn Soro %Jges" paTesTatTalS)
C) rddaTraoh 1I0) @@ém $YBoDFIHL
D) a6 V) ‘.\)@8‘@06‘; geore oo PR I
B803080.

H0S;r005° VT N de

S

The correct match 1s @ :
éa@é 23¢8 «

Options :
A B D
i Vv 11} I I
A B ¢ D
. I \Y Il I
A B & D
\Y II I V
.
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Question Number : 52 Question Id : 7512365172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The process of ‘exflagellation” occurs i which one of the following stages of the life
cycle of plasmodmum?

B A S0 oI BB FFHAaho £IE BEoSTA I SFS® Dogddes?
Options :

Sporogony
NG DEE\E

'

Erythrocytic schizogony
8800 QPO 2BIS0

Hepatic schizogony Q/v

5000 dPod 2SS0

Gametogony
D2:8:5°S\§

4

Question Number : 53 Question Id : 7512365173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The tranquilizer which is normally used as a medicine to treat mental 1llnesses and often
abused 1s

& 1808 8S® HrdNE Tge D8SS® F°4; d:&s@o‘:’mﬁﬁdﬁea& RT085°8?

gcollegeduniaa
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Options :



Barbiturate

a:“&gé.nééﬁ_
1.

Amphetamine

S0
>

Lysergic acid diethylamide
" BI85 BI& FHPSUE

Benzodiazepine

, Bos B0 PS
N

Question Number : 54 Question Id : 7512365174 Question Type : MCQ Op# ffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Periplaneta americana, there are three pairs inted walking legs. one pair attached
to each thoracic segment on the ventral sid leg 1s made up of five segments or

podomeres arranged serially. Identify the s e of arrangement of podomeres from the
base to the tip.

DOFIEr @DOET & Jorid aaé rieJ Q) w55, 28 @8 IE PosdY wiidwod’
w88 wolrow. wf)E) s B0 PSS poderen Gotron. rHoS’ 8F8o Hod

WOotHHEE o DO a}o&@“e.: @08 SHD ESr) Hfokod.

Options :
Tibia = tarsus — trochanter = coxa = femur

BHAST = LR = 5P = 55 = b

1.

Coxa = trochanter = femur — tibia — tarsus

5°57) = (5°5°088 = P06 - BAST = Lrd)D
2.
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Femur - tibia = coxa — trochanter — tarsus

D8 = BHASF = 5757 2 508 - )R
3.

Tarsus = tibia - femur — trochanter = coxa

LR = BAAST = P06 = I°s0bb - 5
4,

Question Number : 55 Question Id : 7512365175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The principal muscles of respiration i cockroach are

SROES” JopgRod X Sodkorew: q
Options : \

Ventral longitudinal muscles

1 &l8 ©8o0e Sodoren é
| O

Dorsoventral muscles é

_ S)FES Sodoren {(,v
Alary muscles &@

] 558 So8T e

Abductor muscles
WHSEL Eodoen

4

Question Number : 56 Question Id : 7512365176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (S) : The image formed 1n nocturnal insects is called superposition image.
Reason (R):  The superposition image is a clear image.

Fsp8 (S) : o808 SLses® G WAoo Hrdb FRAS WEDowo.
5820 (R) : 20 w8 NHJPS Hédowo.

The correct answer 1s
DO HEFGH B

Options :

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S), (R) ex Boddor $85035. (S)80 (R) 86508 dhden.
1,
N
Both (S) and (R) are correct but (R) 1s no(&‘ect explanation to (S).
(S), (R) &0 3ok 50630853 57 (S) ) DOSDS JS5ed 5.

(S) 1s correct but (R) 1s not co 1@

. (S) 505058 52 (R) ésg@ &o.

2.

(S) 1s not correct but (ﬁ}is correct.
(S) F0F0SE 5% 570 (R) J0T0d&.

Question Number : 57 Question Id : 7512365177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (S) : The water flea Dap/inia exhibits characteristic head shapes during various
Seasols.

Reason (R):  Cyclomorphosis is a seasonal adaptation to changing densities of water in
the fresh water lakes.

Fspg (S) : TLE P ‘@b NG Feres® VG do e BE0)R0s.
5800 (R) : @IS0 Erd DB JIYS® HHIre 5o EON IS Foddesd
ISP O 0.

The correct answer 1s
DO HETES S0
Options :

Both (S) and (R) are correct and (R) 1s correct qylanation to (S).
(S), (R) e ok 5863:82. (S)s (R) 5@ S8e9.

1

Both (S) and (R) are correct but (R) @o«@f correct explanation to (S).
(S), (R) &0 Todsr H05083 571 (R) 865308 D58e0 s7650.

2

(S) 1s correct but (R) 1s iégéct.

(S) %6056 52 (R) BRI36 5°¢%0.

A

(S) 1s mcorrect but (R) 1s correct.
(S) P8R8 570 57 (R) S8R0db.
4.

Question Number : 58 Question Id : 7512365178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



Identify the correct statements with reference to special adaptation to aquatic habitat.

A Fresh water fishes have large glomerular kidneys and salt absorbing chloride cells in
aills.

B. Marne fishes have large glomerular kidneys and salt excreting chloride cells in gills.

C. Marnne fishes have aglomerular kidneys and salt secreting chloride cells in gills.

D. Fresh water fishes have aglomerular kidneys and salt secreting chloride cells 1 gills.

20 BTN P8E VHEroTeR Jo0doAS Tgpged® Jo5 TEI HfoEod.

A 50008 [den DY CE8ETIT D) Dr@homen, ISt odmrold {rod
§0& Beoroo EON dGrodrow.

B. 3508 [den DY G889 ) Sr@homren, InHod' ol IIPE §B&
Seorodd 0N dodrow.

C. J3d08 Bdew dgééa"@é DHGrs r@nosen, oS odrren PR §;§5
Soorodn 88 Godrow. Q

D. %0208 Bden 88855795 HHGarsd S ﬁ:f:)hm, F0NeS* vl PO

§0& Seorodo ¥OA odrow.
o4
A&B $
A&C Q’
. &

B&D

3.

C&D

4,

Question Number : 59 Question Id : 7512365179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct combinations.

A Ozone Layer — 8% —  Blurred Vision

B. Green House effect — Methane —  El-nmo effect

C. Acidram — SO, —  Photochemical smog
D. Eutrophication —  Algal blooms —  Ageing of lake

N

0 E¥JoDeo Kokl

A L85 &0 - )Y — 558 B Sy

B. 08 iy derso — 23S _ 262 Berso

C. e 580 - SO, — 508 SFaBS K0S
D. orEs*asae - oo Do - B8k Y850

Options: ,@
A&B "]9

.C&D C)é}

B&D $
&

, A&D &0_;

Question Number : 60 Question Id : 7512365180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following organs acts as haemopoietic organ i the foetus and erythroclastic
organ in the adult?

& 808 RHES VST OGS I8 VoUETS® SF EHeEE vlchdomr, \FESTS
AP G880 DS wdchIomr HARNH?

Options :
Bone marrow

QN8 doTreni

1

collegedunia
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Liver

5800
2.

Kidney
X ;’335&0

Pancreas

iéao
4

Question Number : 61 Question Id : 7512365181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sigmoid curve 1s obtamed when percentage saturation @Joglobm (Hb) with oxygen
i1s plotted against the PO, as indicated below : Q

sdizs, TIrTAS (Hb) 8 %08 So8)d v &2& S380Eo S Op H™SDYE ¥
PMIond Bp & Bod SrdS Do G .

5

2 5

% F &@ If a patient who is a hypothermic with a body
;. 3] temperature of 30°C, the curve shifts towards
fgﬁ 3% 0¥ 80 voy SYFRSE Gold wdm 08 P
s 30°C wonddyd & S Bp & 3PS dFHo
£ .. T Bodo&od

D g

-

¥

£ S

T &

22 —> PO, (mm Hg)

o ;

Options :

Curve shifts to the right side due to less affinity of Hb with oxygen.
TIETHS s8ucs’ vdwodo ko So SE Tp HHEIYH ITHo BokEod.

: 1
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Curve shifts to the left side due to higher affinity of O, with hemoglobm.
8ns TArFANE vdwodo WEKE0 So SE Tp IEHIYE ITHo Vot od.

2.

Curve will not shift either to left or right.

3

58 3 EHIHEOTI B LAEIYSH MY ITHo Bodd.

Curve becomes straight line instead of sigmoidal.
SE Op RMmO0G DR 5°R008° DL SrHe00d.

4,

Question Number : 62 Question Id : 7512365182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:
Set-1

A) Valve of thebasius

B) Eustacheanvalve

C) Trcuspid valve

D) Bicuspid

80 TR 2S8KBoB.

A)
B)
C)
D)

Se38 -1

w5 -1

BTN Eabo
oﬁw%aoﬁaﬁ Eado
BJE Eordoo
&g Earboo

The correct match 1s

58@;‘6 2365

Options :

1

A B %
i I \Y

N
Set- 11 Q
Gaurds left a ‘icgfhtricular aperture

Gaurds th ng of coronary sinus to right atrrum

D

1y

III) Nonfi
\Y

v-
S@S‘%—'H

QB E05” 2805 o) S808

II) &5°S0 8o H& EPES” BLWHER Som) S8R08
) &¢ 2HosS® Bosrdirdon eotnod
IV) %& 885 2805 SogrQ) 883006

collegedunia

—



2
A B ® D
i I Il I | \Y
A B # D
I I II | \Y
4,

Question Number : 63 Question Id : 7512365183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following features best suits to a he@ normal individuals urine:

S5 Ky S0SToN/ T oS 538 SarGos® o-sa & Bod ofmdoen:

Options : 0
Dark yellow colour; pH : 6. Ov;& H,O, 10% urea
DL DY Yoro: pH : % &, 10% cdoordasr

1. ‘@
Pale yellow colour; pH :7.0; 96% H,O, 2% urea, 2% other substances
S& D30 Jorh: pH 1 7.0; 96% 8, 2% 50805, 2% 288 Sorgren
2.

No colour; pH: 6.0; 98% H,O, 2% urea. 1% glucose
i Sgsardo; pH: 6.0, 98% &, 2% chordoir, 1% Kr8'E

Pale yellow colour: pH : 6.0; 96% H,O. 2% urea, 2% other substances
S Bk Yor: pH:6.0; 96% 18, 2% chr0dsr, 2% 88 dTgren

4.

Question Number : 64 Question Id : 7512365184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedunia:
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Identify the correct statement with reference to vomer bone:

D08 B3I DBNEH H02050NS J0GHS FTgpge K0oWodk

Options :
It forms the bridge of the nose.

=6 508, S° TEHA D08

It forms the upper jaw.
QB D S5ES0 Y0d0s.

It 1s a triangular bone present on the floor of 1& cavity.
QB TOTRTE0 WD/ GEd00sS” & 305 d DS,

3 &

It forms the anterior part of the pa@%

) R S0P FoRes TTA) @@0&.

Question Number : 65 Question Id : TSIZWﬁM Type : MCQ Option Shuffling : Yes Display Question Number : Yes
t

Single Line Question Option : No Option n : Vertical
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Match the following:
Set -1
A) Alzhemmer’s Disease
B) Menmgitis
C) Parkinson’s Disease

D) Stroke or Cerebro-vascular
accident

1808 TPEQ 2S8R 0.
568 -1

A) ©9%6 g8

B) S00B8S

C) D0 a8

S8 Bodd

The correct match 1s

ROToS 228
Options :
A B &
: I Il I
A B

<
=

8

I)
)

&

D) @°§ 8o ”@6:@5‘-&*?&@5@% IV) o888 Bods & Howod g8 ESoom

Set - 11
Inflammation of the protective membranes
covering the brain and the spinal cord.

Progressive disorder of the central nervous
system affecting motor movements.

Rapid loss of bram functions due to
disturbance 1n the blood supply to the
brain.

Progressive neurologic disease of the brain
leading to the loss of neurons and the loss
of intellectual abilities.

5E58 -H,@

3066, QPs0 S0 Fdo T

B ¥ 5555 w528 Evom HE KB
8080 Herdo Boddo

Stodo 8o HEIHTS® wdoko
DI Dodd dGoen IKom

§edoso

R HoBEo S T8 georen, DS
@éaggo §e8ouicto
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Question Number : 66 Question Id : 7512365186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the hormones that regulate calcium levels m the human body?

A Calcitonin

B. Thyroxine Q
C. Cortisol Q,\
D. Parathyroid hormone q,

A

SrSYQ BFoS® YI0 FoOd &@03 S oo Hgokod.

A  HERS é
B. 308 Q/v
&

C. s8s «
D. &ogocrond 53*6‘&5

Options :

A&B

:

A&D

2

B&C

3

C&D
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Question Number : 67 Question Id : 7512365187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:
Set -1 Set - I1
A) Addison’s disease I) Deficiency of vasopressin
B) Cushing’s syndrome II) hyposecretion of glucocorticoid
C) Myxedema IlT) Over production of glucocorticoids
D) Diabetes msipidus IV) low levels of thyroid hormones in adulthood
808 T 2EHEB®.
588 -1 588 -1I
A) &3S 758 ) oFHEIS S50
B) ®%%0f doi&xo ) #r8'sfsronGe ©SHEE
C) 2gase M) Ar&'sgsondo ;@@sﬁ
D) &05%BED 25DNED V)

& §FS°Q @)5 T By Fowe

The correct match 1s @ .

QO0GDS eé
Options : é
A B8 ¢ D Q/V‘

I \Y
1 &é

A B € D
I I N
A B € D
i \
3.

Question Number : 68 Question Id : 7512365188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

—



Identify the correct statements about T . cells.

They are CD 8" cells.

They recognize antigens through MHC class-II protein.

They recognize antigen-presenting cells and produce antibodies.
They recognize altered-self cells through MHC class-I protein.

o0 W e

TC Eeoro B J00HONI S0GS a‘ggpge.aéﬁs 8ot 0.

A 22 CD 8§ gwren.

B. =22 s%-II MHC @88 oo @wéassos Hidon.

C. 2D PH8=38 dHodyw Sorod HBTon; PEJTFodH &g Bron.
D. 22 S 3068 boh SeroH £5-1 M@rés o KGRm0,

Options : WQ

1, A&C 0{(4}
A&B @

> Q/V'

_A&D &0_)

B&C

4.

Question Number : 69 Question Id : 7512365189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct sequence of passage of spermatozoa in males.

a. Rete testis

b. Epididymis

c. Urethra

d.  Vasdeferens

e.  Semuiniferous tubules
f.  Vas efferentia

g Ejaculatory duct

h.  Urethral meatus

QEHOG” HESeore J0FS Palres Soeddgod Hofothdw.

a. 88 Solyo \Q
b. 228805 Q,Q

c. Bofo é

d O

DE T @
HE'NEE TEEen Q/v.

f. HE o8
g ol F¥o «@

h  cS038S bod

Options :

a—-b—od—oe—-c—of—-g—h
1.

e—sa—->f—-b—-d—-g—>c—h
2

es>c—sa—->d-b—osg—-f-h
c)

d-b—osa-sc-o>f-oe—-sg—h
4,

1 E
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Question Number : 70 Question Id : 7512365190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the diagnostic procedure used to detect genetic defects m the embryo:

0UEEES" adog vIES o HEoBohE EIRrHoD EoME WIS ) KHBokosk.

Options :

ELISA

Amniocentesis
E:?QJJC%J“_?OO RFPD
2.

Amenorrhea

O
| WIS ‘»Q,\

=

Sonography

&
. S (D é

Single Line Question Option : No Option Orier tatn : Vertical

Question Number : 71 Question Id : 751236519@E&m Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following:
Set -1 Set - I1

A) Plelotropy I)  More than two alleles occur at the same locus
on homologous chromosomes

B) Multiple alleles I) Expression of both the alleles in hetero-zygous
condition

C) Polygenic mheritance M) Multiple effect of single gene

D) Co-dominance IV) Single phenotypic character influenced by
more than two genes

808 TR 2SJSWoB0.
D88 -1 2838 - 11

A) B ) Jderd FIrSoos’ s o 3G
BooEol I8S cinfidEoyen wodioo
B) 23v¢ oofdsomyen ) %o oSz S0y SSifdEUTyen
PO aﬂafgééaoﬁéo
@
C) advahg odlodss M) 23 EW Rrderod wWrddo
D) $&eirgsso V) o8 wr;’: oSN Tok 0B 83

S e Werado BodHEo
The correct match 1s @Q
é@@é 2365 @
Options : «

A B & D
| 1 \Y [T I
1.
A B B D
I I I \Y
2.
A B C D
i I II
3
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Question Number : 72 Question Id : 7512365192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

A)

B)

C)

D)

List - 1/5¢8 -1

Sex Index / &0 S8

1.0

0.5

0.67

0.33

The correct match 1s

rSlsTon VN1
Options :
A B
1T \%
1.
A B
5 AW V

A

D

IT)

S

@Q/

V)

List-11/ D8 - I1

Sex of Drosophila /| &&Foer dorfdrdo

Intersex

R O0K @
Met@

&&é 45

é]emale
@ 2

Male
DHAR 2D

Meta female
@&E\g 53
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A B i D

1 |\Y I I
3.

A B 3 D

Vv \Y I I
4,

Question Number : 73 Question Id : 7512365193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with reference to sickle cell anemia:

A Due to point mutation ‘glutamic acid’ 1s replaced by ‘Valine’.

B.  Due to point mutation ‘Valine’ is replaced by ‘glutamic acid’.

C. Itis autosomal recessive genetic disorder and affects heterozygous individuals.
D. Itis autosomal recessive genetic disorder and affect@ozygous individuals.

N

DS DS WA K Ho20BoNS HOTS Fg@sod HYothdw.

A Dok &&BIES HOsomr TOS ﬁr@@&*&h DETNN0H

B. 20k #8088 S0Somr KrirdoS gl TOS%H HEEHN0H

C. B8 Fs' oo Soddod pS 220y ©IPS; DAD Sz Sg8ger Mo
@S .

D. 3§ Fars'S oxo &@3 wosgE by wSRs: dockore Sgkeo K
©Y)S K.

Options :

A&D

B&C

A&C

3.

B&D

4.

Question Number : 74 Question Id : 7512365194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
collegedunia:
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In the geological time scale, the golden age of fishes 1s

Fhog Tosrd H8ES* Bde Hrgosnssom BHwd:

Options :

Tertiary period of coenozoic era
0 E 006 [0St c30K0eS 8(?16 0300

:

Jurassic period of mesozoic era
WS 0008 [50TFc0K0e° rorRE oSwio

2

Devonian period of palaeozoic era )\Q
POBrE 00E HFBNK0S Y EIFV0DS ofe

3. &
Carboniferous period of palaeozoi&

3 2OBrS onf HoFosnKoS R %“‘&Jd‘é_& a0 io

&

Question Number : 75 Question Id : 75123651%&5ti0n Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option O : Vertical

Experumental verification of natural selection was performed by

BEB 56 PArTEEor GHDEBODST

Options :

Augustus Weismann
WAHHD DESTS

1

Paul Kammarer
>SS 5086

collegedunia
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Hugo de Vries
s Toght & 1O

Bernard Kettlewell
, B6>§ 3BS3E

Question Number : 76 Question Id : 7512365196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct sequence of stages i the evolution of man.

A Homo neanderthalensis

B. Homo eructus

C. Australopithecus

D. Homo sapiens ’\Q
E.

Dryopithecus (»Q
A

Ir3S H0er0S’A Bfw S0 @{ééﬁ@i o8 oToRw.
A FEArIrSEE TEAG @

B. &3~ J355 Q/v.

C.  Ioodsd &6

D. &SFErddalw)

E. (FBro8853

Options :

A->C—-o-B—-E-D

s

zCaA%BeEéD
BEeCaBaAeD

4EeAeC%BeD
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Question Number : 77 Question Id : 7512365197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Hisardale’ 1s a new breed of sheep developed in Punjab by using the following breeding
technique:

TSRS Wl BE PSS AR Doarands® & (Bod PSS JosSESS SIRrAod
O3B DTH.
Options :

Interspecific hybridisation
YOSy 28 J08TNW

Cross - breeding

58 HaSSE0

N2
Out breeding ‘]9
3 2TS NORYG).DW é
O

Multiple Ovulation and Embryo&sfer (MOET)
2T0¢ Bo& )Y Dod maé(o

9

Question Number : 78 Question Id : '?5123$ Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4.
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Match the following:
Set -1 Set - 11

A) Prolonged P-R interval I) Hypothyroidism

B) Shortened P-R mterval II) Hypokalemia

C) Prolonged Q-T interval II) Delayed impulse from pacemaker
D) FlatT-wave IV) Tachycardia

0B T8 BSHSTB0.
e 5838 -11

A) 0aS P-Rwoddo ) ¥Fgoondza

B) &8a8 P-Rwoddo ) TrFsododsr

C) 2008 Q-Twosso Il odrdodito ol PRI ET e sodgIE0
D) 38 T-S6ors IV) irbsgos ,9

>
The correct match 1s
SO =& é

Options :

A B
N m m
A B € Db
vV O I
-3
A B C D
4. ]I I

Question Number : 79 Question Id : 7512365199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



The first gene therapy was given for the deficiency of:

& 1808 S'rA8 SBFOT 2logdsd) Bobadobd.

Options :
Adenosine deaminase

WA AIE

0

Insulin
R0)OQ

2.

o-1 Anfitripsin

N
0-1 oSNNS ‘]9

B

o- Lactalbumin oé
O SrEONIR @
Q/V'

Question Number : 80 Question Id : ?5123652%&5“0]1 Type : MCQ Option Shuffling : Yes Display Question Number : Yes

4.

Single Line Question Option : No Option Ori : Vertical
Natural killer cells oﬁgi;l'e}e from
D TodE Eeren I8 $00d ST o0,

Options :

Adipocyte stem cells
&F DL Droserren

1

Myeloid stem cells

i TTONE ST OFTeD
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Lymphoid stem cells
OoFTrond orescaren

=

Endothelial stem cells

. QoG HONS Jredcoren

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365201 Question Type : MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical \

Identify mcorrect statement among the fol g.

& 1808 TBS* HORKE 5 &8 éﬁufm
Options : é

There are tour fundamental fores in nature.

8BS T PS8 € J°\O.
T e it gy wepe

Conservation laws have a deep connection with symmetries of nature.

Qodge AoLIren PES BwE), TITOE S8 J005°A) OH ¢ I)ow.
3

All conserved quantities are scalars.

i @) 0088 Trhen VHTD.

Some conservation laws are true for one fundamental force but not for the others.

§Q) Q8gd8s QoBdren w8 (@FENE 2erds hTTw 5 8§ 8 88 5°J.
4

Question Number : 82 Question Id : 7512365202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The expression for the force is given by b+—, where ‘5" and ‘c’ are some physical
t

quantities and ‘7 1s the time. Then the dimensions of ‘¢’ are

P8 BEFSE0 b+ I RSWAESS. RoHS® D H8H ‘¢ @I IS FT8E Ten
[

08050 ‘F 5700, ®ond ‘¢’ § dsen

Options :

M'LT

1.

MLT™

2 N
MLT" N
>

MLT

Question Number : 83 Question Id : 7512365203 Question : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation :

An object falls a distance D from re object travels a distance 0.51 D m last 2 seconds.
The time taken by the object to @1‘ he distance D is

o000 Do wf SNY D drdo J&FE00b. & SRH VI8 2 2EIS” 0.51 D &rdo
QoSre8008. ®ond D drdo Kowtrds SHK) SR8 se0

Options :
20
—

-~
ks

; I

58
2.
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Question Number : 84 Question Id : 7512365204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B are the ends of a ladder in contact with a vertical wall and the floor respectively
as shown in the figure. Let u, and v, be the velocities of B and A in x and y direction

respectively. At a time when the angle ABO 1s 60°, #; = 1 m/s, then v, in m/s 1s

2L06° Frudinr, JenHF'E, Jos® HHS* &l IS §, I3 A o B ew.
Up 0SS V, 00, SEJIM x oS y HFoS” B 5’.\380& o Imren wssod. ABO,
60° §°90 won S w0 IS¢, uy =1 m/s wond v, ;’Ja@s o

A
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Question Number : 85 Question Id : 7512365205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The resultant of the two vectors A and B makes an angle oo with A and B with B.

Statement (A) : o <pif |A

Statement (B) : o <pif A

Statement (C) :  a=pif |A

<

woll

Bodks BB A %8050 B © 508 584, A

25580 (A) ; o< Beond [A|<

DS58es (B) : o < B wond @
D58 (C) : a“B&m@[:E}

Choose the correct option

DTN a::i’)n)s“@ Q008 0!

Options :

(A) and (C) are true

(A) 508050 (€) ex dgg0.

Only (C) 1s true
(C) S Ségo0.
2.

%C)

A

€00 O J°
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N,
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(B) and (C) are true
(B) $080dw (C) en d8g0.
(A), (B), (C) are all true
(A), (B), (C) &y d8g30.

4

Question Number : 86 Question Id : 7512365206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball 1s thrown at some angle with the horizontal and at speed 10 mv/s. The speed of the
ball at 1ts maximum height H during the motion 1s 5 nv/s. The magnitude of H 1s

(Assume g = 10 m/s%)

§82 JSrod80E” §o8 o [z, 5& 10 m/s S .8 @Dzﬁ&md&. @ 208 Vo0
&I T K0 A8y HSG 2008 S& 5 m/s. wow JO°EDO

(g=10 m/s’ ©d v5855») é}
e @
3.75m é
1 Q/v-
40m &O_)

6.5m
3.

2.75m
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A man weighs 70 kg. He stands on a weighing machine m a lift, which 1s moving
downwards with a uniform acceleration of 5 ms™. The reading in the weighing machine
is (Assume g = 10 m/s?)

w8 S0 70 kg © 28 Srherd. vdi, 808 &0 5 ms~ & w&*Sopormr BOKE)
OPS® &) Y $rB oo RS Jvaded. vond & dhogo Brw S&or,

(g =10 m/s” ©d ©58E5S50)
Options :

70 kg wt.
70 kg 20809

35 kg wt.

 35kgaky ‘]9’\%

86.0 kg wt. Q‘}
86.0 ke 2263 é}

=
106 kg wt. oj(/v

106 kg oty A

Question Number : 88 Question Id : 7512365208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

”~
-

At a certain instant, an object is subjected to a force fe [(40): —(2.0)}'+(9.0)A}N

while the object’s velocity is v = |:—- (2.0)7 + (4.0) }\] nv's . The instantaneous rate at which

the force does work on the object is

o8 08 Ewmo & wf IHH Ido ‘?:[—(2_0)54-(4_0)};}11]/5 SRAVE, ©H OO
F= |(4.0)7 —(2.0) 7 +(9.0)F [N % 5908, 53PS & weoo 53 Fh egess dtw,
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Question Number : 89 Question Id : 7512365209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 4.0 kg bundle starts up a 30° mncline with 120 J of l@: energy. The distance upto
which the bundle will slide up the incline. if the coeffiftant of kinetic friction between the

‘v

bundle and the incline is —~, is &
. &
28 30° Trevdeoows K828 ] &° @keej Joordy Ededo @FrEoPN0d. STty

Je0 Serd8 Koy KB Hodes 1 & C.»QJJ@ Teodeown b W8 F8 drdo

Options :

6 m

10 m

3m

8 m
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A uniform circular disk of radius R 1s used as a simple pendulum when suspended from a
point. The time period is T, if the disk is suspended from a point on its rim. However the

time period 1s T, 1f the disk 1s suspended from a pivot pomnt at r = R from the center,
where 0 <o < 1. If T, = T,. then the value of o 1s

Fgrgo R o o8 808 Syosd dHID, a8 Dok 00D IorddISIYE, T°AD
e.:‘?‘mé‘e.:éom FTETH. T VoS 28 VoY Do DHDH JerdbISHYE SIS
500 T,. Soio &0d r=0R $¢ Ko w8 S HokY $0d DHH JerdldSIYE, sSES
500 T, 28 8 0<oa <L T,=T,, ©wo0oddyk o Jend,

02
O
04
> ‘]9,\
A
0.5 Q,
3 é’
0.8

Question Number : 91 Question Id : 75123 1 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orieitation : Vertical

A wheel 1s rotating freely at an angular speed on a shaft. A second wheel with twice the
moment of mertia of the first and muitially at rest. 1s suddenly coupled to the first shaft. If
K 1s the original rotational kinetic energy and AK 1s the loss m rotational kinetic energy.

then Ak 1S

2.8 QWPE, wE F'dah 68 w8 SEo JgHT @08, $ DS HEY 2ES] @S58
SE0R) 2ESS 8o EOA SO DT°H00S" &&) TodS FE°) WEF T 0 B E
coMdo Brdh. Ko3d 53708 @8 18z ¥§, AK 038 @ 8z #8450 $Q00
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Question Number : 92 Question Id : 7512365212 Question Type : MCQ O uffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ‘

Consider a simple pendulum where a point IQJH’ 1s suspended from a hinge with an
insulating thin wire of length “7°. Let ther nt charges “+q’ each at the hinge and on
the poimnt mass. The time period of oscillations about equilibrium for this

269 T Ko Heosd wodﬁ&%, 2§ oo Hod Dot ST M $o erdbDS
OIS Q) H0KBowWod. & Sen S¢ H0akn Dok BSTI R wEYHE +q° Dok

DEFTRTL0 GIYTNIE0E. & VIS OIS VNSRS Job &0l Vo) FoTo GILS
50

pendulum 1s

Options :

T>2z-i

g
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V e, 1°
4
X oy mi ;
q
no +
V’ 14 4‘%.0 ]2 Q\q
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Question Number : 93 Question Id : 7512365213 Question Typ& Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver&

A simple pendulum has a time period en on the earth’s surface and T, when taken
to a height R above the earth’s surfsce¥where R i1s the radius of the earth. The value of

% is &@

S ed0800 W GV uf vdnsteto T, o3 «igS serd) §00 40d, T
3 5088 S R IKE 8o IHPSIy o 388 s7wo T, 28 & Rard Do)

TG 500 WONS 1 Jend
5 T,

Options :

1
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Question Number : 94 Question Id : 7512365214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a uniform steel wire of 4 m length and cross-sectional area 3 x 10™° m” is extended
by 1 mm, the energy stored i the wire 1s (Assume Young’s modulus of the
wire =2 x 10! N/m?)

FEY 4m, HEgHS FTegin 3 x 10° M’ Ho o D868 @8y, &K% 1 mm oo
FEEDSY %, BRS® BoDSSochg 48, (B chof HreEsw 2 x 10" Nm'm o8 So85m)

Options :

75 ml &

> Q/v.
75 ul

. &
0.75mlJ

4.

Question Number : 95 Question Id : 7512365215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

—



A hot air balloon is rising upward with acceleration 2.5 m/s”. The ratio of air density
outside the balloon to that inside will be (Assume g = 10ny/s*, Neglect the mass of balloon
fabric)

o8 36O Bors, &¥mo 2.5 M/’ S &g BIS* B0, wahb &) MO FoEEEr,
Bors %o &) MmO Fodssr fo IR (g = 10 m/s’ ©d s, Bors Kog
BE550°80 G w§obod)

Options :

oW

=
<0
29

Y,
G

%
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Water is flowing with speed of 10 m/s through a pipe with cross-sectional area of 8 cm’.
The water slowly descends 10 m. The pipe cross-sectional area at lower level increases to

16 cm”. The pressure at the upper level and lower level is I(l x10° ) }y , and ( ax10 ) N .
m° m

respectively. The value of constant o will be (Assume the density of water = 1000 kg/m?)

DTS JTogdn 8 o’ Ko 2.8 égo Tgoe 10m/s $66° A BIFod. & A IHHm
10m 8K$08. §od Soio S& Mo D), BoEsEHS BTrogdn 16 cm” & D&KS08. B

50630 S08cn Bod S0&00 3§ HTren SEB (1><105)1y , So0as (arx10°)N/ .
m

©Wond JET°3 0B GoB e, (VB Boog) Fod 1000 kg/m’ @i Sokm)

Options :

LD
1, 9

2.10
) A
&

- &

Question Number : 97 Question Id : 7512365217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A metallic bullet of mass 1 g is shot at speed of 100 ms™ into a wooden wall. The metal
has specific heat of 200 J/(kg-°C). Assuming all the mternal energy generated by the

impact remains with the bullet, the temperature change of the bullet 1s

BS550°8 1 g Ko w8 ST ok, 58 100 ms™ & 3§ FEs I8 LYHTHh. & &5
D3Fgo 200 J/(kg-°C). & vdrdo So @&\8 vy BoddE ¥§ voer HokEI
&0t00EA AW, ot GRPHSS® Sorddy

Options :

. il B
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40° C

200° C

3

20°C

Question Number : 98 Question Id : 7512365218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A steel wire of length 1.5 m and 3.0 mm” cross-section area at 30 °C is held straight
(but under no tension) by attaching the ends to two walls. The coefficient of linear expansion
for the wire is 1.0 x 10~ / °C and Young’s modulus is 2 x 10" N/m". If the temperature of
the wire 1s decreased to —10 °C, the total tension in the wire will change by

O

249 1.5 m, Sog53)8 3rego 3.0 mm” Ko o8 ﬁs\zf , T BS0s Bok FEek
30°C $5& dAoEEo o 8K GodTH (5°0 wby, BS° 3> Bh). & 8K P g g8 S
Koeego 1.0 x 107 /°C 508050 0%0f Koeoo 2 N/m’. & 85 eEss —10 °C o
S0R, BKS'A Bwdo B538S° KOR Sty o

Options : é
240 N Q,v'
1 @
130N «

2
330N
G
180N
4.
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A diatomic ideal gas 1s compressed adiabatically to % of its initial volume. If the initial

temperature of the gas 1s T, (in Kelvin) and the final temperature 1s oT . the value of ‘o’ is
1
28 BODGAr0E e5iY) TPASNIR0, T 'O S HOIr00S” 3 Sodso R&'QEom Hoaddo

BoBOANT K. &8 T O ePS T.(30is ©S*) Sodcsn & &P id ol wons, ‘o
QDO

Options :
A

i
6

2 ’9
5 N

. ‘v

Question Number : 100 Question Id : 7512365220 &n Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orien/@tion : Vertical

An air bubble of volume “V ’ e bottom of a lake of depth ‘4", where the temperature
is T,. The bubble rises to the surface, which is at a temperature of T,. Assuming that the
bubble’s air 1s at the same temperature as that of surrounding water, the volume of the
bubble at the surface is (Let P, 1s the atmospheric pressure and P, 1s the pressure at T))

28 V" 50850500 Ko md a0di, ' ‘d’ 80d, s T, o 61 wkbres® eod.
e 20, T, sPid fo &ddde gmmi8 B008. 20EKS'Y MO, HdJdTre A NS
SEI ool AN, GH0B00 & WK DS D0Iro dend (Preldd Teddem
550 0000 Py w36 T, 568 Hessn obhemhsm)
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Question Number : 101 Question Id : 7512365221 Question Ty :% Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

Two 1dentical wires with equal tension fundamental frequency 900 Hz. The tension
in one of the wires is increased b)@ n order to increase the beats by 9 beats/sec.

The magnitude of ATT 1S &@

DS 8338 T &S° €508, Doty JEIIrSBS Sl [@FE0E FS: 9S50 900 Hz. Ddyodareso
0 ddyodTren/pELH To DB IS, DS 8 BHS' S8g8% AT T DONT.

WO B A—T D058 00,

1

Options :

0.01

0.02
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Question Number : 102 Question Id : 7512365222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A smusoidal wave of wavelength A has a speed of 350 mv/s. If the phase difference between
two displacements at a certain point at times 1 x 10~ s apart is 7 radians, then the value

of A 1s

S8on3d g0 Ao af arg S80S oo $& 350 m/s A & od. Q02 Do) 9B, 570
1 x 107 &S00 JoeS*, Bokd TS Woro Jogy &7 PFo TTEHI wond A Jend

Q:Sb
40 cm q,

90 cm C)é}
S

110 cm Q/v
5 &Co

70 cm

Question Number : 103 Question Id : 7512365223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A converging glass lens of 40 cm focal length in air 1s immersed in water of refractive

index 1.3. The change in focal length of the lens is (Assume B ™ 1.5)

mOS® Tgoddo 40 cm Ko 28 WPFO M Lo, H8YSS hedo 1.3 Ko J8S®
$00NT . & ELE TPgosdos' ¥OR 38, (= 1.5 ©d o508 55w0)
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25 cm

Question Number : 104 Question Id : 7512365224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an interference experiment, third bright fringe is obt@ou the screen with a light of
wavelength 700 nm. The wavelength of the light 5(6 in order to obtain fifth bright

fringe at the same point on the screen is (v
w8 $3888 RRrKos”, 6orgdgo 700 08, BERS Hoordb ogdBood HER
FoOTH. OB DoY) ¢ ©B BERS $8500% HEI PosTI8 5H02S 5708

28 & cioﬁna_%o,

&
50'0 nm &O_)

n

420 nm
.

630 nm
28

750 nm
4.
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Consider a horizontal sheet with charge density 5 x 10° C/m”. A particle of mass 8 x 107°
g 1s dropped from a certain height onto this sheet. The number of electrons that should be

removed from this particle so that it stays close to the sheet without falling on 1t 1s

{Assume g =10m/s” and

47,

=9x10° Nm>C™2 ]

DSTBE Fod 5 x 107° C/m” Ko o8 §8z 35r088 Do H0KB80H08. |B550°3
8 x 107 g o o¥ $e07) Q00 Q&) R oW & D8 28 SEIVTW. & o I8 D
DBEBOT T8 dﬁfjdé‘ QO G odIB508, & §000 HoD FOhoBIeODS Q@@;é&@ STet-

(g =10m/s” 500 a0

Options :
i %108
On
L&
Ex 108
9
2.
X % 10°
5
=
i->< 10°
18n
4.

=9x10°Nm’>C™ @;‘60?;&35533]
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A non conducting wire 1s in the form of circular arc of radius R as shown in figure. The
two ends of the wire lie on x-axis and y-axis respectively. If the uniform linear charge

density on the wire varies as p(6)= p, cos 8, the potential V at the center ‘O’ will be
(Assume V = 0 at infinity)

506" ErDSLOT, w8 OTFE 8, Tggin R E008 o S)EFE who &rdos’ @ob.
& 8K Both Flen SHIM x-wfo, -0 Golron. 8RS JE68 THAH I3
Fogs p(6)=p,cos8 m 58008, Too ‘O 5§ od FBINS, V

(wS0eso :\’)Q V=0 od ©®@0808)

Oy
N,
‘\rb

&

T €,

Po
8 g,

4r e,
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Six equal resistances are connected between the points A, B and C as shown 1n figure
below. If R, ., R, . and R, . are resistances between pomts A- B.A-Cand B - C

respectively, then correct option 1s

S0 ‘aﬁt):-ﬁ SLoe? zﬁrﬁ}éé&gi’? e J3rs AT o Dothyew A, BSdosn C o éoc;ﬁg
§0u%. R, R, . 508050 Ry, 63 $6%5m Hodoeo A-B,A-C 508s» B-C o
SVTny &0& JATTBB H0RS w&cbéo,

Options :

B... 2K

AC>RBC C’%
>
R & Ree. = R Q/

BC AC AB

: &2

R

AC

> R

BC

> R

AB

R

AB:)R

sc ~ R

AC
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The current I, m the following circuit 1s

$o8 Trad SOooS” gy 1
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Two mfinitely long straight wires carry a current 7 in the direction as shown i the figure.
For a proton of charge ¢, a distance 4 away from the wires and moving with a velocity ‘v’

along (—x) direction, the magnetic force on the proton is

B0t ©S508S Yo 8H ST, HLoS® Wrdd BFS* g Tiro i’ Gotood.

Ble $00 Er8o d &* &08, dBogESo q Ko |PErS, (—X) 6F ok vV’ SKos* 590,
& (e DS o8 WA 08 weo,

L
&

v
)
I d _;
il
N\

Options :

HolqV - Q/v.

1

27d ,\@

(s
wd -

.,Uofq ¥ .
g - into the plane of page

Ueiq Vv
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A galvanometer having a resistance of 8 € 1s shunted by a wire of resistance 2 Q. If the
total current 1s 1 A, the part of it passing through the shunt will be

Q&G0 8 Qe mexd® o, 2 QAGE0 © w8 BKE® HolS BobwdSs. Fogo Jdog T o
1 A @008, Qo8 oo° I Adogyararo erio,

Options :

1.2A
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Consider three coaxial cylinders of infinite length. The mner cylinder carries current of 3 A
n the upward direction. The nuddle cylinder carries a current 5 A m the downward direction

and the outer cylinder carries a current of 8 A in the upward direction. The magnitude of
magnetic field 10 cm away from the common central axis of the three cylinders 1s

wdodom PEY FOAS o SFE drdro HdNbdododk. wodd dxrdo s HIS” 3 A
DYBVTIR) A 508, gy S0 ©F BIS® 5 A IBogE)TSR) A ﬁécﬁm, TS
QR0 G3ge OIS BA DAoGEYT T Q) 80N olnol. S Jrdre il Sogo oo
10 cm o &rdo 3 oB woha o8 §& HOSIT00

Options :

6 uT

12 uT Q,e
‘v
15uT

) 17 uT Q/v
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Consider the inductor arrangement shown in figure. The equivalent inductance of the
arrangement between the points A and B 1s

RL0S® Bl (w85 950088 HdKBotod. HoPHen ABodciw Bo DG &OoR ©00E
R, eog (wIsssw,

A o =
: LEERL
i BES B |
B 00009
L4
D
- $
(L) 22 &
S
1_ RS
v.
[ T +L.+L Q/
Tiile) - 7 &0.7
2!
f Tl )
(L1+L4)+L 2+L3J
2

PO 5 PRL 5 PRL L o9
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An inductor of inductance 0.2 H 1s connected in series with a resistance, a capacitance

| :
and an AC source of frequency }xl()4 Hz . For what value of capacitance, the current

will be maximum in the circuit

1
0.2 H (288800 o o8 (@85°Q) a8 98¢0, ol SPDBY) Sodakn F&:dsgo EXIO“HZ

o AC 255708 F8S° 9000580 DT, & 5000065, STFIBIYE & Je0S €)Y,
QEGBYT 0 HORWRYE0H?

Options :
1.25x10°F

1, O
65x10°F ‘\9

z— ¢
50x 10°8F é’

3

30x10°F

4, &2
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The electric field in an electromagnetic wave is given by E = E,e.sin(ky — wt)

-

where & = k,éy, The magnetic field is then given by (e, éy, e. are unit vectors along

—_

x. v and = direction and ¢ 1s the speed of light)

08 Jdogicdoar o8 SdoKos® Dgd giBoso E:EO e sin(ky—wt) & SodoBwdos,
R0S* k=k.8,. 0k ©cHd o8 FEQ) & o HrRowBEn

(éx, e, e Xy 18508 I508 HdFen S00osn 508 H&)
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o Al ﬂ ;
B= —O(Sin(hf —wt)e_+cos(kv—wt)e )
c
1.
o AR
B= ﬁex sin(/ky — @r)
c
2
§=-_—Eq-é:sin(b?—(w)
C
3
& =Bya . ’9
B=—"¢ sin(ky—wt
" L ) q,Q
4,
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A parallel beam of light 1s incident % y on a perfectly absorbing surface. If the force
exerted by the light beam on the% e is 2 x 107”7 N in 10 nanoseconds, the energy of

photons hitting the surface 1s ‘

2,8 D0r088 5708 Yozl V8T Y T°08 0800 ©00T J8S0 Bothéhod. & &I0S00 D
s 5708 Yoo $uiBD woo 10 F DEDoS® 2 x 107 N wond, 3080 &85
Frdo 8

Options :

600 nJ

500 nJ
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400 nJ

700 nJ

Question Number : 116 Question Id : 7512365236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Assertion (A) : As per Bohr’s atomic theory, the electrons revolving around the nucleus
do not radiate energy.

Reason (R) :  The angular momentum of orbiting electron 1s quantized.

DSII50 (A) 1 &6 D dFTodo 580, SoEo Wby HBERID dogoes ¥8Q
D800 DoY), ,9

sdwo (R):  $EgS* HOENRE) dJogs S o s g0d%y0.

The correct answer 1s C’Q/
2GS DETGEB0 @

Options : %v
Both (A) and (R) are tm@ R) 1s the correct explanation of (A).
(A) 08050 (R) e Boéé@ga 00050 (R) @38 (A) & 30508 Jheo.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).

(A) 500050 (R) &0 Bodr 3e°g@ 570 (R) 938 (A) & 50508 58 57,
2.

Only (A) 1s true.

(A) S Jg0.

B
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Only (R) 1s true.
(R) S8R0 S&8g0.

Question Number : 117 Question Id : 7512365237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a decay process, given below, a nucleus X decays mnto a nucleus Y, a beta particle and

an antineutrino. X — Y +e+ . If the atomic mass of X and Y are 175.942694 u and
175.941420 u respectively, then the maximum kinetic energy of beta particle will be

closest to (Assume Ia= 931MeV/c2)

Bods NS &8 o HBoReS’, .8 Bodso X;Soso Y, (B) Her Sevo Sodadw 8 SogS
EHHGH08. X - Y+e+7.X,Y o 565 @sgma@mm 175.942694 1 5005

175.941420 u woxd, Her Eeih K04 KGaTs ©8 d?@( 1= 931 MeV/c? s o)

0.98 MeV o

ks é
1.42 MeV Q,v
&,

2,

1.32 MeV
3

1.18 MeV
4.

Question Number : 118 Question Id : 7512365238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

—



For a transistor amplifier in CE configuration, the change in collector current and base
current are 1.5 mA and 10 pA, respectively. If the collector load resistance R, = 10 kQ

and the mput resistance R, = 2 k€2, the power gam of the amplitier 1s

CE 237g008™Q Q00 58578, RE0B DB T TS’ Sy, Berdo LGB YTHT0S
S 80y SBodm 1.5 mA 58c%0n 10 pA. 28863 828 %0 R, = 10 kQ 508050 Q2F A8 o
R, =2k @008, $g80 Bog) dggo 58

Options :

11250

O
N,
9000 ‘]9

Q&
112500 0
4, @

Question Number : 119 Question Id : 7512365239 &n Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Drie%: : Vertical

In a standard half wave ree&gl circuit using pn junction diode, if the voltage m the
secondary of the transformer 1s 12 V (a.c.). the average voltage (1n V) output from the

circuit 1s

PN 508 ERrED TES o8 |PIrBE vfsdor I8 B8 B Sodhos®, ErQard)d Dog)
Teodochos® 582 12V (ac) wond, Sodho Sod) eenddo adbih dKn g2

(SPepos®)

Options :

12

J2r
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2.
1242
.
3.
'Eﬁ
4 6"

Question Number : 120 Question Id : 7512365240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heights of the transmitting and receiving antem’&pectively are h, and h,.
The radio horizons of transmitting and receiving a@a respectively are 16 km and

8/6 km. Identify the correct option. (Radius of the eafth = 6400 km)

BT 50050 (TEE soBame e ZEPT b, Hocke h, G308 H0cHe (T
woBIe AR §8mren SHdM l6km§' 8/6 kmwoowis ©0g0s oQ)s) Hgoses.
(S0 aggsn = 6400 km) Q,

Options : &@
h,=20m, 213
Hy 2
1 68
h,=30m. L = -
" h, 3
2.
h, =30 m, b, =
B, 3
=,
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112 =20 m. h, - 3

.
4.
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 7512365241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The amount of energy required for the conversion of H to H™ is 13.6 eV. The amount of
energy (in eV) required for the conversion of He™ to He*" is

O
H$ H'mre Sedtoo sd0ds 4§ 13.6eV. He™So Heh@&aé\) sH0dS 18 (eV os®)
Options : &W
272 0‘(/

. 40.8 Q/v.é
9

Question Number : 122 Question Id : 7512365242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“No two electrons m an atom can have the same set of four quantum numbers™. This
statement 1s

“28 HBSre0YS® 2 Bodd QOFROERT 28 DS Ko T 57080 DoPgen LobErGi .
& DGe.

Options :

gcollegeduniaa
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Heisenberg’s uncertainty principle

?‘&53@ OISSC oS0 50

1.

Particle-wave dualism of de Broglie

QES°h Seo-S80i 5c0ds HeeTBibn

2

Schrodingers wave mechanics
PEONR0 Sol airo|88 %’“@o

4

Pauli exclusion principle
TFO B drgo )\q

>

Question Number : 123 Question Id : 7512365243 Question Type :@pﬁﬂn Shuffling : Yes Display Question Number : Yes

4.

Single Line Question Option : No Option Orientation : Vertical

Which of the following 1‘epresent&,con'ect order of 1onic radu?
1808 T°8S* wolrlE A‘J‘géﬂ%&ﬁ@é B5rQ) BewRSE D67
Options : «

Mg™ <F <Na* <0 <N’

Mg <Nat <0 <F-<N*

Mg < Na* <F~ < 0> <N*

Mg <F~ < Na*< N>*<0?"
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Question Number : 124 Question Id : 7512365244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The atomic number of the element Unnilquadium 1s

Unnilquadium Sor e85 S8 Sopg Dod?

Options :
102
115
108
2.

114

O
; Q’\

104 &"\;

Question Number : 125 Question Id : 7512365245 Question : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation :

The type of chemical bonc@%gent m “CuSO,-5H,0” are

""CuSO4-5H20“ e5° ﬁ@ Sr0S o087 I57e
Options :
Covalent: Co-ordinate covalent

D50 Bra2dod; Dol DH0@Rredod
1.

Tonic: Covalent

WOIrRE; SSHForedod
2.

gcollegeduniaa
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Tonic: Covalent: Co-ordinate covalent

@A DRBredoD; S0t HHRreIddD

Ionic, Covalent, Co-ordinate covalent ; Hydrogen bond

@8, DIRTrEA0D, JHSoH SHRreIoh; TGRS W00

Question Number : 126 Question Id : 7512365246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following molecules, the central atom has expanded octet?

808 venHes® 38 Tol BESrIoB VRE 93}\@“"‘5’?

a)  SCL &qu
b) CO, &
PF O

c)

5
d) H,SO
e) BE’.‘I 3 . Q/$

Options :

b.c.d &O_)

Question Number : 127 Question Id : 7512365247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Density of a gas at 27 °C is 5.46 g dm™ and the corresponding pressure is 4 bar. Find out
the density gas (in g dm™) at STP.

27°C $¢ 28 050 Fo|SS 5.46 g dm™ 508050 @8rd HESS0 4 bar. STPSE 050
Fos (g dm™ o) S EHFSod.

Options :
6
1.
|
iz
3.0
3.

Oy
S
A
' &

O

Question Number : 128 Question Id : 7512365248 Questio : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ve

«‘9%

[—
N
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For a van der Waals gas

28 J°080 T°d) ToS0YEY

a=45atmL>mol™>. b=0.9L mol™

(Vc=3b:. YL
27b? 27bR

‘R=0.0821L atm K™ 11101“1)

Its critical constants T, P_ and V_ respectively are approximately

O

o dobl Rorosten T, P S5odain V $800 SSom

,\‘\r

Options : C’Q,

36,04,54 @
2.7,02,18 Q/V-
_18,02,27 &Q)

, 2713,1,224

Question Number : 129 Question Id : 7512365249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the approximate amount of Pt (in g) m 1 g of Mn, ,.Pt, ,.O,.
| Atomic weight of Mn, Pt and O are 55, 195.0 and 16 respectively]

1 g Mny, Pt 0,8 58 Pt5os3rmo (gos) S Dirdm Eorsos.

[Mn, Pt $:8050 O & $85ram roen $83m 55, 195.0 S06050 16.]

Options :
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1

0.15
3

0.1
3.

0.25
4

Question Number : 130 Question Id : 7512365250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The label ofa H,SO, bottle shows 1.4 g cm as its density. ate the molar concentration
(in M) of H,SO,. (Molar mass of H,SO, =98 g 11101‘1)0

‘v

2§ H SO, 53 28 Ko 30 (label) o8ssyIMg cm™ m 8enHdos. H,SO, &g,
3rers mEs (Meos®) 8§ osod. (H,SO, so°@ =98 gmol ™)
Options :

| 15.0 Q/v

1
14.0 &@
2,
13.28
3.
14.28
4,

Question Number : 131 Question Id : 7512365251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following statements are correct for first law of thermodynamics?

a) Energy can neither be created nor be destroyed, i an 1solated system.

b) It 1s impossible to construct a perpetual motion machine.

¢) The total energy of the system and surroundings 1s constant.

d) Internal energy of a system can not be increased by performing work on the system.

G ias a‘t”_fg DES VoIrI8 8od DSEOS® D HOD0SD.

a) o8 DK BT oY IgSPS® FEI HYRoWBBw Sododn TESo BoHSHw.
b) ¥ d88 Jodo (perpetual motion) Ko cfoE ) ABoWBHw.

C) BgSH So0cn HBBT Ingo ¥§ BN,

d) o8 3558 ©odds ¥EJ, & ISP HIVL oD

2

Options :

O
a,b,c N
P

a,b,c,d &
: 0‘0
, N

a.c.d

b, c, d &(9

Question Number : 132 Question Id : 7512365252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which of the following reaction(s) : K_= Kp?

8od 2 W8g(0)S® K =K ?
(g=adb0Q; s =)

i) 2NOBr(g) — 2N0(g) + Brz(g)

i) HyO(g) +C(5) = COg) + Hyy

iii)  Hyg) +1y4) = 2Hl

V) .Ni(g) +3H2(g) = 2NH?’(.g) ,9
Options : ‘»Q
(1), (11) Q'}
&

Q/V'
(iii), (i)

3

(i), (iv)

Question Number : 133 Question Id : 7512365253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the pH at which Mg(OH), begins to precipitate from a solution of 0.1 M
Mg**? (K of Mg(OH), = 1.0 x 107", log 5 = 0.70)

28 0.1 MMg™ (@880 $008& O pH 5§ Mg(OH), ©58d0 Doty e80eiSarr8?
(Mg(OH), @8, K =1.0 x 107", log 5 =0.70)

Options :
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9.0

N
;JJ

10.0

8.0

Question Number : 134 Question Id : 7512365254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the formula of the 1on formed. on addition of calgon to hard water

§85 28 TS EODEYE Dy wosr A

- A
&

[Na 4M PO ]2_ ‘”@
1.

' &
[ Na,M Pﬁols]z—

[K?.M PGOIS]Z_
[K,M POy

Question Number : 135 Question Id : 7512365255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Sodmuum nitrate decomposes upon heating to give sodmum nitrite. What 1s/are the other
product/products formed during this process?

FBa%Ho JBESH 6BV DArKo Bod Fdaho JPESH R, & BHEMS® NGBS
WHES Boiredgo/BoSiradTgen J&/A?

Options :
NO . O,
1.
NO, . O,
2.
02 ‘ b
3. \
N,, 0, ‘]’
4, q&:
Question Number : 136 Question Id : 7512365256 Questio : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Ve
What are X and Y l‘espectivqyzhe following reactions?

X +H,0 «2— dibor Dco v

808 Wogews® X Hoddin Y e 2?

X + H,0¢2— 3&*85 —=—Y

Options :

- H;BO,, B(CO),

1

_ H,BO,. 2BH,.CO

B,O,. BH,(CO),

3
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B,O,. 2BH,-CO
4. i

Question Number : 137 Question Id : 7512365257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : S1Cl, 1s soluble m water, but CCl, 1s not.
Reason (R) :  d orbitals of Si facilitate the reaction with H,O

S50 (A):  SiClL, DBS* &, 5 CCl, eSS ELoricso.
800 R):  Sie'd d soyirey HO & $858 558000,

The correct answer 1s q
HOG0H DBIEH B0 ‘]/Q,\

Options :
Both (A) and (R) are correct and (R@ﬂle correct explanation of (A)
(A) 08050 (R) e S0@08d m& (A) Bog), D8RS e (R).

v.

Both (A) and (R) are correct. %t (R) 1s not the correct explanation of (A)
(A) 58050 (R) en é&é 5°Q (A) Rwg 0TS IS8 (R) s7o.

1

(A) 1s correct, but (R) 1s not correct

(A) SBIG, 570 (R)D8G03& s7dk.
o

Both (A) and (R) are mcorrect
(A) 08d50 (R) o0 38508 5°9.

Question Number : 138 Question Id : 7512365258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Match the following.

A)
B)
C)
D)

List-1 List - 1T
Particulate matter I)  Organic matter
Ozone hole II) NaClO,
Pathogen [IT) Smoke
Chemical Oxygen Demand IV) Water pollution

V) Chlorine free radical

808 TR 2EHS%.

A)
B)
C)
D)

e -1 =er- 11
Sea8 Drgo I) \%daf{)é TG0
L8R Sogo NaClO,

T BIBI0 III) &K

A
C)Q, -
oS 8 wHddo @ IV) 8 stendgo
Q/V'

V) §0S g @r8nss

The correct answer 1s ,@
SISToS SN IRSINS AL INRY

Options :

B C D
\Y% IV |
B C D
I IV V
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Question Number : 139 Question Id : 7512365259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The TUPAC name of the following compound 1s

8od 263‘33&653'2) TUPAC & Q}\q

CHO &‘»

Options : &@
4-formyl-3-nitroanisole
4-330)5-3-3E°AIFS

1.
3-nitro-anisole-4-al

3-JE AP S-4-5S

3-methoxy-2-formyl nitrobenzene
3-&)@"’% -2-3@&5 E@S“ﬁ 0B

8
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4-methoxy-2-nitrobenzaldehyde
4-20578)-2-3¢5° Bord s

Question Number : 140 Question Id : 7512365260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name of organic compound C,H, that produces carbondioxide, ethanal and methanal
upon treatment with O, followed by reduction with Zn/H,0 is

C,H, ©3 858 3¢S0, 0, & S8gmdod 650 Zn/H,0 & §ohsdmo mdodm
SHIREF)E, TS $0000 WETSOD T TR D JAE?

Options :

Buta-1. 3-diene
2D

- woger-1, 3-368 ‘]9

Buta-1. 2-diene

&
2ogtr-1, 2-86Q é’

Q/V‘
Cyclobutene
EREEEE &O_)

%

d

2.

But-1-yne
20g8-1-0:

4.

Question Number : 141 Question Id : 7512365261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following systems are aromatic?

808 TES® AD IFErBE SgSHen?

Options : %i

A. B
A
A, D

B.D

Question Number : 142 Question Id : 7512365262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.

List-1 List - 11
A) Polar molecular solids I) Positive 1ons in a sea of delocalized electrons
B) Ionic solids II) Covalent bonding
C) Metallic solids IIT) London forces
D) Network solids IV) Dipole-dipole interaction

V) Coulombic or electrostatic mteraction

808 B 2SBBTB™®.

e -1 e -1
R QOEFR DBE0S® F§ woSrIew
DX oo

A)  (BF wen PSHT T
B) ©dird8 Kmééwcgm
o8 e

&5@5-&5@5‘5&35 WEgen
wmﬁ ?@od QoGS VI gNg WG

C) &S5 ddmoren

®
D) ol fmé‘éw%‘m

-0 L

The correct answer 1s

HOGS BIETHB00 é’
Options :
v.
A c é{o

B
AY A% I

A B L D
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Question Number : 143 Question Id : 7512365263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The vapour pressures of pure heptane and pure octane are 92 and 31 torr, respectively at
40° C. The total vapour pressure (in torr) of a solution containing 1.00 mole of heptane

and 4.00 moles of octane 1s

40° C 38 & TR S00osw0 DE o0 gl DBTre0 SKdm 92 BSodosn 31 torr.
1.00 35S e 0w 4.00 Irde wEoen fo af @I Ivgo rRywdso

(torr e &*)

Options :

18.4

Question Number : 144 Question Id :
Single Line Question Option : No Option O

m

-

—

estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
: Vertical

collegedunia:
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A plot of Vapour Pressure (V.P.) of two component system versus composition 1s given
below. The correct pair of x, and x, 1s:

Brotol S35 Ruog), erdywddo (V.P.) So8cin dodobode (T §od adtwdod. x; 00w

X, © $9& ad. (VP of solution = @de) erdywddo, mole fraction = IS erifo)

VP. of
/ Solution

VP —

x,=CHCl, ; x,=CH,COCH,

v,=C,HOH : x,=CH,COCH,

4.

Question Number : 145 Question Id : 7512365265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The correct unit of the slope given in the following plot for the strong electrolyte is:

1
(a = (concentration )2 ,b = molar conductivity of solution]

OIS DS DAY Bod (MRS Trendd VOGRS Hlrresen:

1
(a =(mgsg)2, b= @sd) Irerd a‘?’méé}

> o~

K(Cl

S

S cm” mol

(mol £ )% Q/v.

Sem? I
(11101)%
2
'S em? mol™
(11101 i )%
3

collegedunia

—



S em” mol

( mol L_lj

Question Number : 146 Question Id : 7512365266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Ina reaction, X +Y — Product, the rate of the reaction changes from 1 x 10~ mol L™ s~ to
2 x 10~ mol L' s when the concentration of Y is doubled. The rate of the reaction
reaches 8 x 10~ mol L' s when the concentration of both X and Y are doubled. The rate
law for the reaction can be written as,

X+Y - Basradgo, $658 Y messo 38 DSy St 1x 107 mol L™ 57 Sood
2x107° mol L™ s7' % S0y Bod®8. X 508cs0 Y © m@& 330 B1SHE WEBED
8x 107 mol L™ s & Bdood. $58g Béao QoSS Bob o oS,

Options : ) &W
Rate =k [X] [Y]" éé,

Rate =k [X]* [Y] Q/v
Rate =k [X]? [Y]

Rate =k [X]’ [Y]'

4,

Question Number : 147 Question Id : 7512365267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following correctly represent(s) Fruendlich adsorption isotherm?

808 TES® DB/AD |FowodH whTHEN Sy Op(e)h BewYSod/BenYse on?

a) X/m T, b) x/m

C) log% d)&f)t’ﬁQl
log p % log p

0 a.d Q/v.

1- &
d

2,
da, C

3

b, ¢

Question Number : 148 Question Id : 7512365268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



Which of the following gases 1s responsible for making blistered copper?

808 TBS* TNY 5796 STy S°HE,rI8 8R0S TS0 2B?

Options :

CO

CO

2

SO

S0, 0’9
4. A
&

Question Number : 149 Question Id : 7512365269 Question T @CQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Verti

What is the formula of the compoundgiaidtormed on adding Fe?* solution to nitrates in

the presence of conc. H,SO,? Q/
¢ H,SO, dS0gos* Fe* %o @@éwag LI FRINPO Tk Ddgcsa éﬁaﬁ:ss’ml@oﬁrﬁ T o
8?

Options :

Fe (SO,),

L7

[Fe (H,0)]*

2.

FeCl,

collegedunia

—



[Fe (H,0); NO)]™

Question Number : 150 Question Id : 7512365270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following compounds undergo disproportionation reaction?

808 ¥ TS ) VSIS S8y mAoWwEE 00?

a) H3P03
b) H,PO,
C) H.P.0.

N
N
d) H,PO, Q,Q

Options :

A
&
a. d é’

1
a,c.d Q/v
5 &@
a,.b.d
o
a,b,c
4

Question Number : 151 Question Id : 7512365271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.

List-1 List - II
A) Manganate 10n I) Bond angle 126°
B) Permanganate 1on IT) Covalent green
C) Dichromate IIT) Paramagnetic
D) Mn,O, IV) Diamagnetic

V) Tetrahedral

808 TBI 285K WS,

e -1 ra- 11
A) 57063 wosrS I) ,\%ocﬁgﬂm 126°
B) 300136 ©dsrS ,@ S B0l i)

0) BEDS Q‘} ) $o wekd,od

D) Mn,O, é} IV) &asr wckhdy,os
&

The correct answer 1s @

SISTeS VR IRSIN LA IR

=

SrodS

Options :
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Question Number : 152 Question Id : 7512365272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula for the compound Hexa ammine Chrommm (III) - tetrachlorocuprate (II) 1s

D WSH0 e wS FDcio (M) - B §6° (@& (1) SwF), e

Options :

[Cr(NH,),],[CuCl,],

Cr(NH,),CuCl, Q’\q
' ‘v

[Cr(NH,)],[CuCl,],

4

Cr(NH,),,CuCl. Q/V‘
9

Question Number : 153 Question Id : 7512365273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.

808 B 2S8J8od0.

List-1 List-11
& - | e - 11

CN

|
A) Melamme ) {CH,-CH=CH-CH,-CH,- CH/,

- HN_ N
Y \"/
B) Glyptal 1)) Ny N

S NH

m 2 s - N

DOFS NH-CH,F

LD
! kel OCH, 0OC CO
C) Bakelite m) + : Cﬁz @ ¥

86885
04{ O-H
CH CH,

D) Buna-N IV)@Q’ : s )‘n

mgé-N
Q/ | Cel
;@ V) {CH,-CHj},

The correct answer 1s
DOGS JBTHrd S0

Options :
A B L D
1 1AY 11 V
A B k. D
II I IV I
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Question Number : 154 Question Id : 7512365274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct for amino acids?

A) Amino acids form Zwitter 10ns.

B) All naturally occuring amino acids have D-cqlglu ation.

C) Complete hydrolysis of proteins leads to %lmatlon of amino acids.
D) All o-amino acids are optically active. ‘»

AN BIross 020800 §06 &)c‘édé@&cﬁo(‘éb 554 v

A) NS sireo 206 @05653 D EYBoz00.

B) &858 dom oo DS sdren D-Drgdo §04 wolrow.
() PESoH Fo 2oddim MIodHT IS eirer GyEeow.
D) ©Q) 0-d0S wdren e Erdosren.

Options :

re, e

1

B.D

2.

AB C
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A, B,D

Question Number : 155 Question Id : 7512365275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (a) : Antiseptics kill or prevent the growth of microorganisms and are harmful
to human tissues.

Statement (b) : Tincture of 10dine 1s an antiseptic.

DNGed (a) : o‘iroéﬁ'?afggm QB Yo BosTow Sa° 38 RHHEOI &G0
DO QD PN Seoererofy (DA SESHW.

DS58ea (b) : OBrES So8)5 wHS a¥ alroiDYS.

The correct answer 1s ,9
DOGE DEFEHBEN0 ‘»Q

Options :

Both (a) and (b) are correct. oé/&

(a) S08050 (b) e HOGSD. é

v..
Both (a) and (b) are not &

 (a) %005 (b) e coacésa =9

3

(a) 1s correct but (b) 1s not correct.

(a) 58056 5°Q (b) HBGSE 560,
=

(a) 1s not correct but (b) 1s correct.

(@) SBF0IE 57 57 (b) LOI&.

Question Number : 156 Question Id : 7512365276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Find the correct variation for the following compounds with reference to their bond length
and bond energy respectively.

§od ST ¥Tre 20§ B3G50 200ain 20E 88 D000 VOGP JrER0 JLVM SRTI0G.

) CH,-F
) CH,-Cl
Ill) CH,-Br
IV) CH,-1I

Options :

I<H<II<IV , A2UFHI>IV

I>I0>H>1IV , I>H>H1>1V Q’\q

I H<HI<IV . Ix}NXL <]&’>

| N
I>SII>I>IV . I<HQ</V- 1\Y

Question Number : 157 Question Id : 7512&7 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct order of basicity of oxygen atoms present in the compounds W, X and Y i1s,

SopTen W, X 500050 Yo &) s§ad d8srmode 20808 568 Esosn

HC CH,
S
(W) (X) (Y)
Opions
Y>X>W
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W>X>Y

2.
X>W>Y
3.
X>Y>W
4

Question Number : 158 Question Id : 7512365278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one among the below gives an 1odoform test?

808 TES’ dRBNE'TE0 D0ED RNG D&’\Q

Options : W
; &
O
$
' &
. &

OH
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O/\ CHO

Question Number : 159 Question Id : 7512365279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following reaction can not produce benzoic acid?

$od S8gos” FoF ons ek5080080 Dcﬁgdé{o& D8?
Options :

l.

S

O
‘]9’\
A
&
CHO 1 r(r‘uoa;m' -
%) H_,a
&0.7

G -G-8 1) KD, —EOH/A
(j 2) H,0"

b

e
u

O
|

e .
4.

Question Number : 160 Question Id : 7512365280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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What 1s the product ‘P’ i the following sequence of reactions?

808 BT gEHBNS® ed HSn P’ 26?
NO,

i) Fe+HCl
@ ii) Br,/H,O
> P
iii) NaNO,, HCI, 273K

iv) H,PO,

Options :
Br
Br
1.
OH
Br : Br ;@
Br
74
Br OH
Br
3
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Br

Br

Br

] 1 E
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